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Study the data in the given table and answer the questions that follow

The table below provides data on the percentage (%) distribution of job vacancies in IT
companies situated in various Indian cities in the year 2009 and 2019. In the year 2009, the
total number of vacancies was 5.4 lakhs and in the year 2019, it was 8.6 lakhs.

City Percentage (%) of Job Vacancies
2009 2019

Bangalore |15 22

Hyderabad|10 8

Pune 12 6

Mumbai |10 18

Chennai |3 10

NCR 21 20

Other

cities o e

Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of vacancies available in the city of Bangalore in
the year 2019 and 20097

1. 108200
2113120

3. 118400

4. 96400
Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the average number of vacancies available in the city of Hyderabad in the year 2009
and 20197

1. 41080
2 42740
3. 58610
4. 51400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What is the total number of vacancies available in the city of Chennai in 2009 and in that of
Mumbai in the year 20197

1. 2.16 lakhs
2. 2.04 lakhs
3. 1.98 lakhs
4. 1.92 lakhs
Options :
21052935009. 1
21052935010. 2
21052935011. 3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the number of vacancies in the city of Pune is 48000 in the year 2019 and the percentage
distribution is the same as given in the table, then what is the number of vacancies available in
NCR in 20197

1. 1.2 lakhs

2. 1.32 lakhs
3. 1.48 lakhs
4. 1.6 lakhs
Options :
21052935013. 1
21052935014. 2
21052935015. 3
21052935016. 4



Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What is the approximate percentage rise seen in vacancies available in the city of Hyderabad
from 2009 to 20197

Options :

21052935017. 1
21052935018. 2
21052935019. 3
21052935020. 4

Question Id : 2105298914 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 2105298915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR e H 99 2019 3R 2009 H Iuds Ridaal &1 = & 79 R fba1g 7

1. 108200

2. 113120

3. 118400

4. 96400
Options :
21052935001. 1
21052935002. 2
21052935003. 3
21052935004. 4

Question Number : 2 Question Id : 2105298916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
g9 2009 3R 2019 H Be3rEig TeR H Iuas NigTaf &1 igd ge fpai e 2

1. 41080
2. 42740
3. 58610
4. 51400
Options :
21052935005. 1
21052935006. 2
21052935007. 3
21052935008. 4

Question Number : 3 Question Id : 2105298917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Ty 2009 H o= Tex H AR Has ¥ ay 2019 ¥ Iucisy Ridqdf & oa Y@ fea-i g 2

1. 216 79

2. 2.04 did
3.1.98 oid
4,192 did
Options :
21052935009. 1
21052935010. 2
21052935011. 3
21052935012. 4

Question Number : 4 Question Id : 2105298918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I a9 2019 9 qui § Rfgaal &1 §&Am 48000 & SR UG RO S aRo § Ga @i g &
JER 3, al a8 2019 H T4 Ul 3R H Iuae Ridadl o g1 fea 6 2

1.1.2 <9
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4 167
Options :
21052935013. 1
21052935014. 2
21052935015.3
21052935016. 4

Question Number : 5 Question Id : 2105298919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

21052935017. 1
21052935018. 2
21052935019. 3
21052935020. 4

Sub-Section Number : 2
Sub-Section Id : 210529343
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the activities of structuring, guiding and closely supervising the
students’ behavior predominate?

1. Autonomous development level
2. Reflective level

3. Understanding level

4. Memory level

Options :

21052935021. 1

21052935022. 2

21052935023. 3

21052935024. 4

Question Number : 6 Question Id : 2105298920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935021. 1



21052935022. 2
21052935023. 3
21052935024. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following constitutes the ‘ability’ (can do) component for describing the
competence of a teacher?

A. Confidence in performing teaching task

B. Knowledge of the subject being taught

C. Skill in analysing the learning tasks

D. Experience in handling learning task related situations
E. Commitment to organizing teaching-learning tasks
Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3. A, Cand D only
4. C, D and E only
Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028. 4

Question Number : 7 Question Id : 2105298921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935025. 1
21052935026. 2
21052935027. 3
21052935028. 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When reflective level teaching and learning are successful, students emerge with
A. A strong logical basis to retain the information

B. An enlarged store of tested insights of a generalized character

C. A firm relational structure in the items of information

D. An enhanced ability to develop and solve problems on their own

E. Seeing relationship and tool use of a fact

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. Cand D only
4. D and E only
Options :
21052935029. 1
21052935030. 2



21052935031. 3
21052935032. 4

Question Number : 8 Question Id : 2105298922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935029. 1
21052935030. 2
21052935031. 3
21052935032. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A model of teaching is a description of

1. Teacher behaviour including teacher and student talk
2. Learning environment including teaching behaviour

3. Learner-behaviour including personality characteristics
4. Subject matter including its logical structure

Options :

21052935033. 1

21052935034. 2

21052935035. 3

21052935036. 4

Question Number : 9 Question Id : 2105298923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

21052935033. 1

21052935034. 2

21052935035. 3

21052935036. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Maximum performance tests are designed to assess the upper limits of the
examinee's knowledge and abilities

Statement lI: Typical response tests are designed to measure the behaviour and
characteristics of examinees

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 10 Question Id : 2105298924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935037. 1

21052935038. 2

21052935039. 3

21052935040. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"A university teacher plans to study the performance of students in implementing specific
projects in terms of their creativity level”.

Which method of research will be appropriate to use in this context?

1. Historical method

2. Descriptive survey method
3. Experimental method

4. Ex post facto method
Options :

21052935041. 1
21052935042.2

21052935043. 3

21052935044. 4

Question Number : 11 Question Id : 2105298925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935041. 1
21052935042. 2
21052935043. 3
21052935044. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following features of research are associated with qualitative-inquiring?
A. Actual settings as the direct source of data

B. Data collection under controlled conditions

C. Concern with process rather than simply with outcomes

D. Establishing relationships and explaining the causes of changes

E. Concerned with what are called participant perspectives

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, C and E only
3. B, Cand D only
4. C, D and E only
Options :
21052935045. 1
21052935046. 2
21052935047. 3
21052935048. 4

Question Number : 12 Question Id : 2105298926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935045. 1
21052935046. 2
21052935047, 3
21052935048. 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the characteristics of a good research hypothesis from the following
A. Amenable to empirical verification

B. Conceptual clarity in defining the variables

C. Plausibility of relationships postulated

D. Accessibility in terms of researcher’s resources

E. Bxtent of its non-refutability

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and D only
3.C, D and E only
4. A B and Conly
Options :
21052935049. 1
21052935050. 2
21052935051. 3



21052935052. 4

Question Number : 13 Question Id : 2105298927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935049, 1
21052935050. 2
21052935051, 3
21052935052. 4

Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research scholar while writing his/her thesis uses ICT at various stages of research
conducted. He/she justifies the conceptual errors in interpreting results attributing the same to
the specific ICT devices. This will be labelled as

1. Technical incompetence

2. Research design’s inadequacy
3. Moral and ethical lapse

4. Human error

Options :
21052935053. 1
21052935054. 2
21052935055. 3
21052935056. 4



Question Number : 14 Question Id : 2105298928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935053. 1
21052935054. 2
21052935055. 3
21052935056. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: Action research is cyclic in so far as it involves 'Plan-Act-Observe-Reflect’ cycle

Statement lI: The purpose of Action research is to develop a theory to explain causal
relationship among variables

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 15 Question Id : 2105298929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935057. 1

21052935058. 2

21052935059. 3

21052935060. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Shifting technologies and communication institutions contribute to

1. System integration

2. Temporal disintegration

3. Psychological disintegration
4. Spatial integration

Options :

21052935061. 1

21052935062. 2

21052935063. 3

21052935064. 4

Question Number : 16 Question Id : 2105298930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935061. 1
21052935062. 2
21052935063. 3
21052935064. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935065. 1
21052935066. 2
21052935067. 3
21052935068. 4

Question Number : 17 Question Id : 2105298931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The positive impact of communication depends upon

A. Acceptance of barriers

B. Planning

C.Sudden expression

D. Media selection

E. Use of language

Choose the correct answer from the options given below:

1. A, B and D only
2. B, D and E only
3.C, D and E only
4. A Dand E only
Options :
21052935065. 1
21052935066. 2
21052935067. 3
21052935068. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Universality of communication makes education vital and vibrant
Reason R: Semiotic narration does not lend itself credence to make it an efficient mode of
teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935069. 1

21052935070. 2

21052935071. 3



21052935072. 4

Question Number : 18 Question Id : 2105298932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sdd dYHl & HTelid § Fgiidd fqdedl § U Hailue I9gad 3 91 ;
(A) 3R (R) THT &1 € 3R (R), (A) BT HEI AR B

(A) 3R (R) THI Hel1 & 3R (R), (A) P TE! oA T8l 8

(A) TE1 & TR (R) el el 2

(A) T8l 98l & IR (R) Ul ol

Options :

21052935069. 1

21052935070 2

21052935071. 3
21052935072. 4

i
2.
3.
4,

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The chronological sequence in the development of communication system is
A. Emergence of language

B. Cave paintings

C. Interpersonal communication (verbal)

D. Appearance of printing technology

E. Telecommunication system

Choose the correct answer from the options given below

1A B CED
2B EDCA
3.CD,EAB
4B A CDE
Options :

21052935073. 1
21052935074. 2



21052935075. 3
21052935076. 4

Question Number : 19 Question Id : 2105298933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
THIYU YUl & fdeTd § ST daR Yol S5 o -

A, HIH] P Jgd

EIAREEEAR

D. {501 U] @1 3ad

E. GYEOR Tl

4 feu e faoed! & § U1 3w &1 994 il ;

1TABCED
2B, ED,C A
3.CD,EAB
4B A CDE
Options :

21052935073. 1
21052935074. 2
21052935075.3
21052935076. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List I List 1l

Example Type of communication

A. Addressing the nation over national TV network|l. Horizontal communication

B. Conducting a workshop for a select number of |Il. Intra-personal communication
teachers

C. Internal conversation with fellow workers Ill. Mass communication

D. Recollection of past events IV. Group communication

Choose the correct answer from the options given below:

TA-ILB-ILC-IILD-1IV
ZA-ILB-ULC-IV,D-1
JA-ILB-IV,C-LD-II
4 A-IV.B-LLC-1,D-1l
Options :

21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4

Question Number : 20 Question Id : 2105298934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ti-| ! ai-1l & 1Y AT DIfore :

Tal-1 -1l

AR AR B UBR
A. TP &1 Al edth WR S D] R B |1 &fds wm
B. g1 S # el @ srdsmer smiford i1, 3i9: 3afdae

HET GEIN]

corf gl & 91y UG aadid 1. o ¥9R

D. 3fdid B g1l @] TR V. THETTd TN
+id fEu 7L fawenl § 4 981 3w g

1TA-LB-ILC-LD-IV
ZA-ILB-ULC-IV,D-I
JA-ILB-IWV,C-,D-1
4 A-IV,B-LC-1,D-1
Options :

21052935077. 1
21052935078. 2
21052935079. 3
21052935080. 4



Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I If the ratio of the speeds of A and B is a:b, then the ratio of the times taken by
them to cover the same distance is ba

Statement II: Suppose two men are moving in the same direction at u m/s and v m/s
respectively, where u > v, then their relative speed is (u+v) m/s

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052935081. 1

21052935082. 2

21052935083. 3

21052935084. 4

Question Number : 21 Question Id : 2105298935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CICEAL R C AR

®YA-1 - Tl A 3R B B Tl B U a: b g 1 GHH gl a4 B3 H 39 gRI AT 7T THY &I
SUTd b : a BT

FYF-: AF U G Afdd TAH G H AT um/s AR v ms P S G 8, 98l u > v el
ol S9! T T (u+v) m/s BT

Sudad YAl & e J [giied ideedl H 9 98 3w 94 ;

1. DY | 3R 1| GHI F81 8|

2. BYF | R 1| &F A g

3. BYH-1 9 g, fob= HYH-11 TTaid & |
4, ®YF-1 ATD &, b FYH-11 Tel 2|
Options :

21052935081 1

21052935082. 2

21052935083. 3




21052935084. 4

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following three expressions

A.35 + 0.07

B. 2.5 = 0.0005

C. 136.09 + 43.9

What is the correct descending order for the simplified values of A, B and C?
Choose the correct answer from the options given below

1.BE=A=C
2C>A>B
3.C=B=A
4B=>C=>A
Options :
21052935085. 1
21052935086. 2
21052935087. 3
21052935088. 4

Question Number : 22 Question Id : 2105298936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A. 35 +0.07
B. 2.5 + 0.0005

C. 136.09 +- 43.9

A, B 3R C & Tiihd HH od Jel Halle! hH & ?

1.B=A=C
2C>=A=B
3.C>=B=A
4B=C=A
Options :
21052935085. 1
21052935086. 2



21052935087. 3
21052935088. 4

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following numbers are non-prime?

A 11

D. 21

Choose the correct answer from the options given below:

1. A and E only
2. B and C only
3. Cand E only
4. D and E only
Options :
21052935089. 1
21052935090. 2
21052935091. 3
21052935092. 4

Question Number : 23 Question Id : 2105298937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fgfeiad O 4 oH-4 T8 4isg Y= § 7

A. 11

B. 13

C.19

D. 21

E. 15

il feu e famedl © O UE1 ST &1 904 oifou ;

1. HadA AR E
2. BaAAB AR C
3. PAAC AR E
4. HaAD ARE
Options :
21052935089. 1
21052935090. 2
21052935091, 3
21052935092. 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the odd number in the following series
644, 328, 164, 84, 44, 24, 14

1. 44

2 84

3. 164

4.328
Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 24 Question Id : 2105298938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fofofod &9 9 O E0d 9% &1 Udl 9
644, 328, 164, 84, 44, 24, 14

1. 44

2 84

3. 164

4,328
Options :
21052935093. 1
21052935094. 2
21052935095. 3
21052935096. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Kavita sold a mobile phone at the price of ¥ 1950 and made a loss of 25%. At what
price will she have to sell it to get a profit of 30%?

1. X 2600/-

2. X 2780/-
3.3 3000/-

4, T 3380/-
Options :
21052935097. 1
21052935098. 2
21052935099. 3
21052935100. 4

Question Number : 25 Question Id : 2105298939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiadr = 25 Uia9d @1 81 U1 1950 T04 H U@ J@5d BiF 9971 30% & Ay 11 39 JiEEd @
&9 ©q 3 fard-l B1Hd O o<1 81T 7

1. 2600 /- T9Y
2, 2780 /- ¥UY
3. 3000 /- ¥4
4, 3380 /- ¥UY
Options :
21052935097. 1
21052935098. 2
21052935099. 3
21052935100. 4



Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If the word HEART is written as SQPMZ, then EARTH can be written as

1. QPMSZ

2. QPMZS

3. QMPSZ

4. QMPZS
Options :
21052935101. 1
21052935102. 2
21052935103. 3
21052935104. 4

Question Number : 26 Question Id : 2105298940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tfg HEART T sQPMZ & O H [R@T F1aT & df EARTH & fho g @ ST 9&ar & 2

1. QPMS5Z

2. QPMZS

3. QMPSZ

4. QMPZS
Options :
21052935101. 1
21052935102.2
21052935103. 3
21052935104. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the sequence
10KL13, 15PQ18, 19TU22,
What will be last place?

1. 22VW23
2. 22\VW24
3. 23XY25
4, 23XY26



Options :

21052935105. 1
21052935106. 2
21052935107. 3
21052935108. 4

Question Number : 27 Question Id : 2105298941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SIPH H 10KL13, 15PQ18, 19TU22, __ 3ifcH R W &I 8N ?

1. 22VW23

2. 22\VW24

3. 23XY25

4. 23XY26
Options :
21052935105. 1
21052935106. 2
21052935107.3
21052935108. 4

Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
In the statement ‘the hill has smoke because it has fire', which type of fallacy may be
identified?

1. Asidha

2. Sadharana

3. Asadharana

4. VWyapyatvasidha
Options :
21052935109. 1
21052935110. 2
21052935111. 3
21052935112. 4

Question Number : 28 Question Id : 2105298942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘Ters! W Y3ii § Tifch 98] 3 &, 30 HYH H (64 USR BT saHy 8 2

1. dHfGg

2. I

3. SHIURY

4, A ANYS

Options :

21052935109. 1
21052935110. 2
21052935111. 3
21052935112. 4

Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

All knowable objects are nameable;

The pot is a knowable object;

Therefore, the pot is nameable

The above is an example of which type of inference?

1. Kevalanvayi

2. Kevalavyatireki
3. Anvaya Vyatireki
4, Shesavat
Options :
21052935113. 1
21052935114. 2
21052935115. 3
21052935116. 4

Question Number : 29 Question Id : 2105298943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



F9 TP YT © ;
sfee w4 fda

SWRIE [ UBR & HTHH B G160 & ?

1. Haaradl
2. A NS
3. auafc®!

4, q9aq
Options :
21052935113. 1
21052935114. 2
21052935115.3
21052935116. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 11

Pairs Pairs of analogies
A. Newspaper - Press . Thirst - Water

B. Dog - Kennel Il. Cow - Calf

C. Hen - Chick l1l. Cloth - Mill

D. Darkness - Lamp IV. Mouse - Hole

Choose the correct answer from the options given below

TA-ILB-IM,C-1,D-1l
ZA-NLB-IV,C-Il,D-I
33A-IV,B-ILC-1,D-I
4A-LB-IILC-ILD-IV
Options :

21052935117. 1
21052935118. 2
21052935119. 3
21052935120. 4

Question Number : 30 Question Id : 2105298944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



l-| & Tl &1 YdI-1l & 390 ey gl & F1Y GHfod PIog

BEIR -1

A THER U4 : U9 . O : gl
B. Pl : dltl Il 7Y : d&51
C. Tff - <ol 1. SuSl - e
D. HERT: T v. 9T : fae
i U 7L fadhedi § U el St gHU:

TA-ILB-IV,C-1,D-1
ZA-NILB-IV,C-Il,D-|
3A-IV,B-I,C-1,D-1
4A-1LB-IILC-NLD-1IV
Options :

21052935117. 1
21052935118. 2
21052935119. 3
21052935120. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List I

A. Web browser . Hard Disk
B. Operating system Il. Chrome
C. Secondary memory 11l. MS-Word
D. Application software V. DOS

Choose the correct answer from the options given below:

TA-NILB-ILC-1,D-IV
ZA-1ILB-IV,C-],D-1
JA-NILB-L,C-1,D-1V
4A-LB-LC-IV,D-1
Options :

21052935121. 1
21052935122.2
21052935123.3
21052935124. 4

Question Number : 31 Question Id : 2105298945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tal-1 B Gdi-1l o 1Y GHEd BT ;

BEIR -1l

A. dF 3o . TS 5%
B. HIQET e Il 1Y

C. YhUgi HART Iil. TH Tg-ds
D. BT TMFEda? V. ST

el feu 7 fgmedl © ¥ Uel Ik 9i-U :

TA-N,B-I,LC-1,D-IV
ZA-ILB-IV,C-1,D-1
3A-ILB-L,C-NI,D-1V
4. A-1L,B-1,C-IV,D-1i
Options :

21052935121. 1
21052935122.2
21052935123. 3
21052935124. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Software l. Step by step procedure to sclve a problem
B. Hardware Il. Raw facts and figures

C. Algorithm 1. Hard Disk

D. Data V. Linux

Choose the correct answer from the options given below:

TA-U,B-1L,C-1,D-1V
ZA-NLB-ILC-LLD-1V
3A-IV,B-1,C-1LD-1l
4A-IV,B-U,C-1L,D-1
Options :

21052935125. 1
21052935126. 2
21052935127.3
21052935128. 4

Question Number : 32 Question Id : 2105298946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tal-1 B Gdi-1l o 1Y GHEd BT ;

BEIR -1

A, GIEdTY . g AR &1 9aT® Usha
B. BT8R I. T 99 U4 e

CUATRYH 1. BTS &%

D.BTel . AEEE

el feu 7 fgmedl © ¥ Uel Ik 9iHU :

TA-U,B-1,C-1,D-1V
ZA-NB-ILC-LD-1V
32A-IV,B-1,C-1LD-1lI
4A-IV,B-I,C-LD-1
Options :

21052935125. 1
21052935126. 2
21052935127.3
21052935128. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What type of device is a joystick?

1. Input

2. Qutput

3. Memory

4. Processor
Options :
21052935129. 1
21052935130. 2
21052935131.3
21052935132. 4

Question Number : 33 Question Id : 2105298947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
AR [l YR &I gfdd § 7

1. 5742

2. H3eqe
3. HERT

4 TR
Options :



21052935129. 1
21052935130.2
21052935131.3
21052935132. 4

Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following is an application software?

1. Android
2. 105

3. Linux

4, MS Word

Options :

21052935133.
21052935134.
21052935135.
21052935136.

AW N =

Question Number : 34 Question Id : 2105298948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fofaad 40 &9 91 Aciie I Juedil 8 ?

1. T3S
2. 315 3 TF
3. dlg-ad

4 THUH s
Options :
21052935133. 1
21052935134. 2
21052935135.3
21052935136. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Information is

1. Raw data

2. Processed data

3. Redundant data

4. Always ordinal data
Options :
21052935137. 1
21052935138. 2
21052935139. 3
21052935140. 4

Question Number : 35 Question Id : 2105298949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sy
Hdl e :

1. gad Ued
2. HaTfed ued

3. AfdRad ued

4, U SIS UgH
Options :
21052935137. 1
21052935138. 2
21052935139. 3
21052935140. 4

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence in increasing order of the carbon content per unit mass of the
following reservoirs of carbon in terrestrial environment

A. Plants

B. Peat

C. Soil organic matter
D. Fossil fuels

Choose the correct answer from the options given below

1.B,A CD

2ZACBD

3.B.CDA

4B ADC
Options :
21052935141.
21052935142.
21052935143.
21052935144.

AW N —

Question Number : 36 Question Id : 2105298950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T Arararol § @ad o Hgfiied HSRI & Ui S@ls 590 @) dla- 51 & ded gu 5 H @I
el 3P H fafed DIfvu

A UY

B. Uig (4l

C. &l & d1d - gary

D. SiareH 344

T feu 7 faeul = ¥ 98 3w 94

1.B,ACD
2ZA CBD
3.B.CDA
4B ADC
Options :
21052935141. 1
21052935142. 2
21052935143. 3



21052935144. 4

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Lakes are less prone to getting polluted than rivers
Reason R: Water in lakes gets replaced through natural processes

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935145. 1

21052935146.2

21052935147. 3

21052935148. 4

Question Number : 37 Question Id : 2105298951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T A Y TR TP P DU (A) IR G BT T (R) PRI T & :
HfHYA (A) : Sl Afcal BT e HH Ugid giH @I 3R Ugd &

TP (R) : ST & o Wipfae uisparsil gR1 uikafdd sl e

Suddd Byl & HTais § Fgifed fasedl d 9 gaifte 3uged 3w 44 :
(A) 31 (R) T el & 9fR (R), (A) P Wl A &1

(A) 3R (R) GH! TEI § SR (R), (A) P Tl oITeA I8l &

() TET & IR (R) Tel el o

(A) T8 81 & WRg (R) eI B

Options :

21052935145. 1
21052935146. 2
21052935147.3

i
2.
3.
4.



21052935148. 4

Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks :
Under Millenium Development Goal 5, maternal mortality ratio between 1990 and 2015 was to
be reduced by

1. 50 %
2.75%
3.66%

4. 40 %
Options :
21052935149. 1
21052935150. 2
21052935151.3
21052935152. 4

Question Number : 38 Question Id : 2105298952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tediiss (fHci=am) fa®my @ed 5 & 3diid, 1990 3R 2015 &7 A9 AgD JG&R [da-] DH D]
& U1 ?

1. 50 %
2.75%
3.66%

4. 40 %
Options :
21052935149. 1
21052935150.2
21052935151.3
21052935152. 4

Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the classification of Ministry of New and Renewable Energy and Central Electricity
Authority of India, small hydro power plants have capacity in the range

1.1-25 MW

2. 100-1000 kW
3.1-50 MW

4. 1-100 kW
Options :
21052935153. 1
21052935154.2
21052935155.3
21052935156. 4

Question Number : 39 Question Id : 2105298953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
49 YT AdIDRUI Fell HATC AR HRAG Baid f[dggd WITHR0 t dIihR0] & S8R Ty oia
i W4 BT &Hd &1 HHE

1.1 - 25 HT@IE

2. 100 - 1000 faare
3.1 - 50 G

4.1 - 100 faErE
Options :
21052935153. 1
21052935154. 2
21052935155. 3
21052935156. 4

Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
India's first National Policy on Education was a sequel to the recommendations of which of the
following committee/commissions?

1. Kothari Commission

2. Mudaliyar Commission

3. Ramamurti Review Committee
4. Radhakrishnan Commission
Options :

21052935157. 1

21052935158. 2

21052935159. 3

21052935160. 4



Question Number : 40 Question Id : 2105298954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fRre W HRd o ugeh A Aifd Fefafed few affd / smm o1 it &1 uiom o4 2

1. DIGRT A”FT

2. GRS

3. THE[G GG g
4, AUTHUH S
Options :

21052935157. 1
21052935158. 2
21052935159. 3
21052935160. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
'NEAT' an MHRD scheme, aims at

1. Better learning outcomes in higher education

2. Facilitating medical entrance examination

3. Better financial resource management

4. Promoting 'SWATCHH' campuses under Swatchh Bharat Abhiyan
Options :

21052935161. 1

21052935162.2

21052935163. 3

21052935164. 4

Question Number : 41 Question Id : 2105298955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
THUG RS B A THS U ST a8 :

1. 3= f2r8m § dgar iftrm aioms

2. Afseha Uaw U3i&T &l T a4

3. Ao} faug 99y udee

4, TWs YT AYgE & 3idiig o= UNER &1 9=
Options :

21052935161. 1

21052935162. 2

21052935163. 3

21052935164 4



Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first National Sports University (a Central Government University) is in the state of

1. Haryana

2. Manipur

3. Arunachal Pradesh
4. Punjab

Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 42 Question Id : 2105298956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
UuH P10 W fayfaare @41g fqyfaeray) e osa 58 2

1. gharon

2. AR

3. SO WG T
4, G|
Options :
21052935165. 1
21052935166. 2
21052935167. 3
21052935168. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following committees/commissions in their report recommended that science
Education and Research should receive high priority to accelerate national economy?

1. Acharya Narendra Dev Committee
2. Mudaliyar Commission

3. Radhakrishnan Commission

4. Kothari Commission

Options :

21052935169. 1

21052935170. 2



21052935171.3
21052935172. 4

Question Number : 43 Question Id : 2105298957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frafaiad gfffaal / S 5 9 feg 30 wfiae | o= 1 & g seforaw @i dig
&3 B o1y faxr & ud 2y &1 I=7 U fHddl Urd g 91 ?

1. Y T5ed 9
2. JEICAR AT

3. AUTHFUH HRT

4, PISRT A
Options :
21052935169. 1
21052935170. 2
21052935171. 3
21052935172. 4

Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Global emissions of carbon dioxide stagnated during the years 2014-2016

Reason R: Strong energy efficiency improvement measures and low carbon technologies were
deployed during 2014-2016

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935173.1

21052935174.2

21052935175.3

21052935176. 4



Question Number : 44 Question Id : 2105298958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T gl ®yd R U § : U dl SMfUdHYH (A) AR G &I dd (R) Hel T & ;
STUTEY (A) : BTE SBT3 MRS BT AGHIHS Sodei g8 2014 - 2016 T R <42 AT

dth (R) : 2014 - 2016 & GRIF FHal &l GUR 3UM 3R Y e dob-iidd Jogdl O
gifgifad g2 |

Iuddd HYHl & Hele § Fgiied fadbedl § U Gaiids 3uged 3 94 ;

(A) 31X (R) THT Tel & 31 (R), (A) DI Uel ARl 2|

(A) 31T (R) ST FEI € 3R (R), (A) B HE AT T8l 2
(A) TE1 & IR (R) Wl ol o

(A) Tl T8I & IR (R) Ue1 2|

Options :

21052935173. 1

21052935174.2

21052935175. 3

21052935176. 4

t
2.
3.
4.

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A predatory journal is the one whose publishers

1. Publish for a fee with substandard or no peer reviewing

2. The publishers of journals have acquired the publishers of journals in similar disciplinary
domains

3. Publish without a fee but with proper reviewing

4. Insist on charging a fee for publishing after the manuscript has been accepted for
publication with proper reviewing and editing

Options :

21052935177. 1

21052935178.2

21052935179. 3

21052935180. 4

Question Number : 45 Question Id : 2105298959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el W+ 98 & g® TeE®

1. HT-AF® Hyd [§71 iR e &, @ & e Io1id &l 6

2. GO S &F P gESH & USED! B Jurfeld B [odl

3. T4 Yoo & T ST GARIEI & 1Y USIIRId &l o

4. T GARIE0T 3R TUEH & T1Y WhI=H e Uigiaid o] Widbidl & 816 YeEHE og Uob &
foTe S S Bl

Options :

21052935177. 1

21052935178. 2

21052935179. 3

21052935180. 4

Sub-Section Number : 3
Sub-Section Id : 210529344
Question Shuffling Allowed : Yes

Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

The ceremonial use of slogans and catchwords in educational discussions raises the suspicion
of a tenuous linkage between thought and action. As stock phrases multiply and the talk
begins to take on an idealistic ring, the wary listener might well begin to wonder whether the
lip service paid to these concepts is connected with what actually goes on in classrooms. It is
difficult in this day and age to be opposed to democracy, creativity, and innovation in
education, but how are these attractive words related to the more mundane business of
teaching practice? The answer, of course, is that the two are often not related - a fact that
accounts for one of the most frequently recurring complaints among today's educators: the
all-too-obvious gap between theory (i.e., educational talk) on the one hand and practice on
the other.

The dissonance between what teachers say, or at least what their leaders say, and what they
do takes many forms and has several important consequences. For some, it lays the
groundwork for the development of a cynical outlook towards the admonitions of idealists
and the advocates of new and supposedly revolutionary practices. This cynicism, which grows
out of a prior sense of disillusionment, strikes many young teachers as they begin to
appreciate the unrealistic quality of several of the expectations aroused during the period of
their professional training. Teaching as actually experienced and as described in textbooks and
college courses often turns out to be to quite different states of affairs. The result is that
college instructors of education and other outsiders begin to be looked upon with suspicion
by many practitioners. Even the testimony of fellow teachers may be viewed suspiciously when
it conflicts with the listener's own experience in the classroom.

Sub questions

Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The use of stock phrases in educational discussions has tended to reveal

1. The linkage between thought and action

2. The difference between saying and doing in classroom contexts
3. The ceremonial importance of slogans

4. The idealistic ring of talks

Options :

21052935181. 1

21052935182. 2

21052935183.3

21052935184. 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

How are the idealistic concepts related to the routine practices in education?

1. They intertwine theory and practice

2. They make classroom teaching innovative

3. They make the business of education highly profitable

4. They lead to the identification of gap between theory and practice
Options :

21052935185. 1

21052935186.2

21052935187.3

21052935188. 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What is the sequel of lack of congruence between saying and doing as evident in teacher
behavior?

1. Opposition to revolutionary practices

2. Lays ground for frequent complaints

3. Emergence of disillusionment among teachers
4. Support to the admonition of idealists
Options :

21052935189. 1

21052935190. 2

21052935191. 3

21052935192. 4

Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why do young teachers appreciate the unrealistic quality of expectations?

1. Because of the cynical attitude among teachers

2. Because of the testimonial given by fellow teachers
3. Because of their professional training

4. Because of their own experience in teaching
Options :

21052935193. 1

21052935194. 2

21052935195. 3

21052935196. 4



Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage analyses

1. The linkage between language and discussions

2. The schism between theory and actual practice of teaching

3. The need to the use of high brow language in educational discussions
4. The importance of idealism in education

Options :

21052935197. 1

21052935198. 2

21052935199. 3

21052935200. 4

Question Id : 2105298960 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 50)
Question Label : Comprehension

1 fEE e ey & Ul ofi uyl & IR difvrg :
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Sub questions

Question Number : 46 Question Id : 2105298961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Qe T=ier F 31 Wdferd GeTarl & Wi &1 ughd Faferad # 8 o1 Squifed &3 &1 ®l o

1. [dOR iR @10 & &9 98¢

2. BEFTT UG H Sl ol Lol a1 31X [T o1 3§ $ & §ig & 3ia
3. IR T 3fd® A9

4, IRIfSAT  SMEIdredl &1 G2

Options :

21052935181. 1

21052935182. 2

21052935183. 3

21052935184. 4

Question Number : 47 Question Id : 2105298962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HTeRiaTd] HIeRoN fIa1 § 7 o4deR 4 fhd TR 4 ool & 7

1. 7 fygid R o9aeR &l 99 4 disdl 8

2. 4 H&FTd e of Faradl s9rd1 3

3. 3 F18 ooa9g o ST®] ArHBR] g4l 8

4.7 Figid IR UdeR & did & 3R &1 YgdH $didl o
Options :

21052935185. 1

21052935186. 2

21052935187.3

21052935188. 4

Question Number : 48 Question Id : 2105298963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T oragR  uitaiéd HU- SR &1 & i YHoRY S HHI &I 31 URUH Bidl & 2

1. HifdPRI HdeR] &I fag|

2. 9RER Aead &1 94918 gsdi 21
3. FRigral F Oigyw @1 Rufa Gar sidi 21
4. ATeRiaedl &1 Yo &) gade
Options :

21052935189. 1

21052935190. 2

21052935191. 3

21052935192. 4




Question Number : 49 Question Id : 2105298964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
¢ fRrard IwiG! @ SHaRaldd Ul ®! Y &l B 6 7

1. RIg®T & o grugel ugid & SRl

2. eart Riad! gRT ST T U@ & HRU
3. U AT UiR&U & SRl

4, fRrgror / S Sva & RO

Options :

21052935193. 1

21052935194, 2

21052935195. 3

21052935196. 4

Question Number : 50 Question Id : 2105298965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e H fhgaT faeul fiog T g 2

1. Y197 3R uftadl & o9 g9y

2. Fareror & Tigia SR aRafd® oodeR & &1 fawig

3. et Tafsll T 3o T &1 YN & UaR &1 9l
4. f1&n o srezlaG &1 de@

Options :

21052935197. 1

21052935198, 2

21052935199, 3

21052935200. 4

PART II Economics
Section Id : 210529110
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 210529345



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements
Statement I: Learning curve effect is related to a firm's long-run average cost curve

Statement lI: A swapped allocation is one that is Pareto efficient as well as an equitable
allocation

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true
Options :

21052935201. 1

21052935202. 2

21052935203. 3

21052935204. 4

Question Number : 51 Question Id : 2105298966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. PYA | AR 11 SHI Fa1 &l

2. ®Y | AR 11 GF TTaa B

3. BYH-1 T g, fob=q Y=-11 7Tad &
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Options :

21052935201. 1

21052935202. 2

21052935203. 3

21052935204. 4




Question Number : 52 Question Id : 2105298967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For the given Income Consumption curve in the diagram, which one of the following is correct,

Good y
A

beyond point A?
I.C.C

r
0 Good x

1. Good x is inferior and Good y is normal
2. Good y is inferior and Good x is normal
3. Good x and Good y are normal

4. Good x and Good y are inferior
Options :

21052935205. 1

21052935206. 2

21052935207. 3

21052935208. 4

Question Number : 52 Question Id : 2105298967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G ¥ fGU T 31 - GUd ab & Gy H 8 H § ©F 98l o, A [dg & uyd
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2. 9% y °ieaT 7Y 9% x I B

3. 9% x 3R a5 y UM 35 B
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Options :

21052935205. 1

21052935206. 2

21052935207. 3




21052935208. 4

Question Number : 53 Question Id : 2105298968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List 1 with List 11

List 1 List 11

A. Effectiveness of private market in dealing with externalities . Laffer curve

B. Relationship between increase in tax rate and tax revenue Il. Deadweight Loss
C. Dominant strategy Ill. Coase Theorem
D. Controlling prices through effective price ceiling and a price floor|lV. Game Theory

Choose the correct answer from the options given below:

TLA-U,B-1L,C-IV,D-1
ZA-IV,B-1,C-1LD-1l
3A-1L,B-NILC-1,D-1V
4A-LB-LC-ILD-1IV
Options :

21052935209. 1
21052935210. 2
21052935211. 3
21052935212. 4

Question Number : 53 Question Id : 2105298968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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TA-UL,B-1L,C-IV,D-1
ZA-IV,B-1,C-1LD-1l
32A-1L,B-NILC-1,D-1V
4A-ILB-LC-ILD-1IV
Options :



21052935209. 1
21052935210.2
21052935211.3
21052935212. 4

Question Number : 54 Question Id : 2105298969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
For the production function, @ = A L=KE:
A. The Coefficient A shows managerial efficiency

B. If a+P>1 then the production function exhibits increasing returns to scale

BK

C. Marginal Rate of Technical Substitution of L for K is given by =
o

Q

D. The Marginal Product of Capital is given by By

Choose the correct answer from the options given below:

1. A, B and C only

2. A, Band D only

3. A, Cand D only
4. A B, Cand D only
Options :
21052935213. 1
21052935214.2
21052935215.3
21052935216. 4

Question Number : 54 Question Id : 2105298969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935213. 1
21052935214. 2
21052935215. 3
21052935216. 4

Question Number : 55 Question Id : 2105298970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Presence of asymmetric information in the market causes which of the following?
A. Adverse selection

B. Marginal benefits of an additional unit of resources diminish with an increasing number of
unit of resources

C. Efficiency wages
D. Principal-Agent problem
Choose the correct answer from the options given below:

1. A, B and D only
2. B, Cand D only
3. Aand D only
4. A and C only
Options :
21052935217. 1
21052935218. 2
21052935219. 3
21052935220. 4



Question Number : 55 Question Id : 2105298970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR  SraaHiiy 9o 91 SuRfy § Feff@d gl s -

A, TPRIES 90

B. O1gHl & U Sifafiad s & 19 oy § HEt 31l & o oY 991! &1 361 dals ol
8l

C. STEFT Holgdl
D. Uy - Afidal gaw1

i few 7 faoedl & 9 9l 3ok 94 -

1.Had A, B AR D
2. Baa B, C AR D
3. BAd A AR D
4. HIAA IR C
Options :
21052935217. 1
21052935218. 2
21052935219. 3
21052935220. 4

Question Number : 56 Question Id : 2105298971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The solution of the following game

Player B
Bi Bz Bs
TAa2 4 2
aﬂz 1 =6 -4
ahAl2 6 -2
is given by

1. Value of game = 2. Best strategy for Players A and B are (A1 B4) respectively

2. Value of game = 2. Best strategy for Players A and B are (A4, By) or (A3, By) or Ay, B3)
respectively

3. Value of game = 2. Best strategy for Players A and B are (A3, By) respectively

4. Value of game = 2. Best strategy for Players A and B are (A4, B3) respectively

Options :



21052935221. 1
21052935222.2
21052935223. 3
21052935224. 4

Question Number : 56 Question Id : 2105298971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FafeRed ga

faardr 8

i Bi; B: Bs

_ ALz 4 2
E A:‘] -5 —4]
A 12 6 -2

BT -

1. W B I
2. WG B
2l

3. W90 BT A = 2, st A 3R B & o gaias Hifd 9= (A5, By) &
4.9 &1 4 = 2, Tadre! A 3R B & fow Gdiod Hifd HH: (A4, B) &
Options :

21052935221. 1

21052935222 2

21052935223. 3

21052935224 4

2, TGeTgl A SR B & foTQ wadieH HHifel 5 (A B1) B
2, TGaT3t A 3R & & forw Tai =ifd I (A, B1) 31UTT (A3, B1) HYUTT (Aq, B3)

Question Number : 57 Question Id : 2105298972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Market failure is caused due to the presence of

A. Poverty

B. Externalities

C. Market power

D. Private goods

Choose the correct answer from the options given below:

1. A and B only

2. B and C only

3. B, Cand D only
4. B and C only
Options :
21052935225. 1
21052935226. 2
21052935227.3
21052935228. 4

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.

Question Number : 57 Question Id : 2105298972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gk @ SOl has] IURTT & RO E & -
A, TRId

. ATl o

C. SR e

D. el U 9

- feu v faeul # 4 98 IR 94

1. Had A 3T B

2. HAAB AR D

3. BAA B, C AR D
4. HIAB AR C
Options :
21052935225. 1
21052935226. 2
21052935227. 3
21052935228. 4



Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.

Question Number : 58 Question Id : 2105298973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 1l

A. Chamberlin . Small group model

B. Sweezy II. Kinked demand curve
C. Stackelberg Ill. Price leadership model
D. Fellner IV. Reaction curves

Choose the correct answer from the options given below:

TLA-1LB-IN,C-IV,D-1
ZA-1ILB=1C-1ll,O-1V
FZA-ILB=1C-IV,D-IlI
4A-1L,B-ILC-1V,D-1
Options :

21052935229. 1
21052935230. 2
21052935231.3
21052935232. 4

Question Number : 58 Question Id : 2105298973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 DI Yi-11 b H1Y FAT BT ;

Tal-1 Ii- 11

A, drIRICH . Y 9Hqg HIgd
B. Tifol |, fbas AT a%
C. o] Il 99 g J1s8d
D. Theid v, Ufdshar ah

i feu 71t faeedl 9 4 981 9w gH:

TLA-1L,B-N,C-IV,D-1
ZA-1L,B=1C-l D=1V
ZA-I,B=1C-IV,D-1li
4 A-1,B-ILC-1IV,D-1

Options :
21052935229. 1



21052935230. 2
21052935231.3
21052935232. 4

Question Number : 59 Question Id : 2105298974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Maximum Social Welfare is guaranteed where a competitive firm exhibits the following
condition [where MRPT,, is Marginal Rate of Product Transformation of x for y]

Price of x (Px}  Marginal Cost of x (MCx)

Price of v (Py) i Marginal Cost of v (MCy)

> MRPTxy= E _ Total Cost of x
' = Py  Total Cost of y
Px  Average Variable Cost of x

. MRPTxy=— =
i 24 Py Average Variable Cost of y

1. MEPTxy=

Px  Total variable Cost of x
1, MRPTxy= —= -
i o Py  Total varlable Costofy

Options :

21052935233. 1
21052935234. 2
21052935235.3
21052935236. 4

Question Number : 59 Question Id : 2105298974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A HHIS® Deal ol TRE gidl &, wigl ufcregdf su-t Fafoiad 2rdl &1 uefid sars
y @ [T x & IaTE URdd- &1 YHAT & (MRPTy) :

x @I (Px)  x 1 UHG AR (MCx)
y PRI (Py) 3 ST THIG AP (MCy)
<P Hd AN

& MRPT:y = e arm

Px  x &I 3M0d ORacHia and

3. MRPTxy = — =
VT Py T oot uRkadeE A
Px  x @ pdgNaaTLd arTd

4 MDY = 5y = | orpa dRadia A
Options :

21052935233. 1

21052935234.2

21052935235.3

21052935236. 4

1. MRPTxy =

Question Number : 60 Question Id : 2105298975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Compared to a certain point on the Contract curve, a point above the Contract
curve is more efficient

Reason R: The Contract curve represents the locus of points where the marginal rate of
substitution between two goods is the same for both individuals

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935237. 1

21052935238.2

21052935239. 3

21052935240. 4

Question Number : 60 Question Id : 2105298975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T gl &y (U U § : U ®l SMfUdHYH (A) 3R G &I db (R) Bel T & ;

HEHYH (a) : (BT Tpo- a6 & DIy fdg @ go1 §, ¥H a1 I & HW @) [4g HUD
BaldIG® Bl g

d® (R) : Upd- g fagall & fog 0y &I HEUd 1 8, el o avgall & aid UfawIo= &1
g & a1 safaadl & foe 99 gl

Sudad HYH! & Seis J Fgifdd fdecdl d 9 Haifde Iuged 3w 9 :

1. (A) 3R (R) T Tel € 3R (R), (&) P! el A& & |

2. (A) 3R (R) GFT 81 & 31 (R), (A) T Ue! oIRaAT Tol &
3. (A) el & IR (R) Fel Tel o

4. (A) TE1 81 8 WG (R) HE1 B

Options :

21052935237. 1

21052935238 2

21052935239. 3

21052935240, 4




Question Number : 61 Question Id : 2105298976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A leftward shift in labour demand curve is caused by

1. Increase in wage rate

2. Decrease in wage rate

3. Increase in marginal productivity of labour
4. Decrease in marginal productivity of labour
Options :

21052935241. 1

21052935242. 2

21052935243.3

21052935244. 4

Question Number : 61 Question Id : 2105298976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
4H {7 9% H aHad] [990 fhdd PRI B § ?

1. Aol e H gfe

2. oIl &Y | Bl

3. 91 &1 iuid IdeHdl § 9ig
4, %0 3 GiHid 3dcs J ol
Options :

21052935241. 1

21052935242. 2

21052935243 3

21052935244 4

Question Number : 62 Question Id : 2105298977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Cross elasticity of demand of metro rides is 0.8 and total ridership per day is 1.5 Lakh. If price
of bus rides rises by 5%, the change in total metro rides will be

1. 4000

2. 5000

3. 6000

4. 7500
Options :
21052935245. 1
21052935246. 2



21052935247.3
21052935248. 4

Question Number : 62 Question Id : 2105298977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hel ARt @1 51 @1 ox@] Aid 0.8 § 3R Ufafe o 9ani 1.5 9 g1 3¢ 99 WaR) &I
®IFd 5% TGl §, dl Hel @1 oa Hanl H feaT Sfav S -

1. 4000

2. 5000

3. 6000

4, 7500
Options :
21052935245. 1
21052935246.2
21052935247. 3
21052935248. 4

Question Number : 63 Question Id : 2105298978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: High powered money is the source of all other forms of money that impact
money supply
Reason R: Credit is created by commercial banks

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935249. 1

21052935250. 2

21052935251. 3

21052935252. 4



Question Number : 63 Question Id : 2105298978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T gl oy RETU § : TF @l SfUdHY (A) 3R THR & a® (R) Tel T & ;

HUGYH (A) : T Tidd W J=1 (815 UTds H+1) GH 3 319 U4 UHR & Hs1 &1 Hid & ol
a1 1 A B guifad &l Bl

dd (R) ; dIfUIGaeE 9! §R1 01 &1 970 gid 8
Iuddd HYHl & Hele § Fgiied fadbedl § U Gaiids 3uged 3 94 ;

1. (A) 3R (R) T T8I § 3R (R), (A) P Tl AR 3|

. (A) 3R (R) THI TEI § 3R (R), (A) B! UEI AT T8 &
. (A) 81 & U (R) Wel 7ol o

. (A) TE1 7181 & R (R) &I B

Options :

21052935249. 1

21052935250. 2

21052935251. 3

21052935252. 4

$a 0 o

Question Number : 64 Question Id : 2105298979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Absclute income hypothesis explains

1. Consumer behavior

2. Producer behavior

3. Inflation

4. Government expenditure
Options :

21052935253. 1
21052935254. 2
21052935255.3
21052935256. 4

Question Number : 64 Question Id : 2105298979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AU (Absolute) 3T &I YHedl [HS| RS ST & ;

1. 3UYIGAl AdER
2. JdIGP HdeR
3. {21 Tpifd

4, TIOR] Y
Options :
21052935253. 1
21052935254. 2
21052935255. 3
21052935256. 4

Question Number : 65 Question Id : 2105298980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost of holding money by individuals

A. Loss of real value of money due to deflation

B. Foregone interest from savings

C. Utility foregone by not buying goods and services

D. Returns foregone by not holding other assets

Choose the most appropriate answer from the options given below:

1. B, C and D only
2. A, B and C only
3. A, Band D only
4. A Cand D only
Options :
21052935257. 1
21052935258. 2
21052935259. 3
21052935260. 4

Question Number : 65 Question Id : 2105298980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



afaadl gR1 ggT aifiar @ifesT 7 S ard & -

A. 5T SaEhiTd B PRU HZI B dRAIdD DA DI Bl

B. od WR e 91 &Te &1 g1

C. Fegail SR JarsHl &1 TR el B3 & SR IyIidr &1 g
D. 3= UGl &1 9 3@ & SR Ufdwd ®f g1al Sis

i feg v fawed! & 9 w8 s g

1.HgdB, C, D
2. BAAA, B, C
3. ®BAdA, B, D
4. HIAA, C D
Options :

21052935257. 1
21052935258. 2
21052935259. 3
21052935260. 4

Question Number : 66 Question Id : 2105298981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The government multiplier is given by (where c = MPC and t = tax rate)

&
R 1—(c—t)
5 1
(1=t
3. 1
I'—c—1
4'1—c[1—tj
Options :

21052935261. 1
21052935262. 2
21052935263. 3
21052935264. 4

Question Number : 66 Question Id : 2105298981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WEHRI 0 HUfafed & 4 $F 9981 & (O8] ¢ = ST &1 Hid uafd, t = S @1 &)

1
1.—
1—(c—1)
2§
2.—
(1—o)t
1
P
8 St e |
1
L
T==u{1==1)
Options :

21052935261. 1
21052935262. 2
21052935263. 3
21052935264. 4

Question Number : 67 Question Id : 2105298982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following in chronological order

A. Rational Expectation Doctrine

B. Keynesian Economics

C. Monetarism

D. Classical Economics

Choose the correct answer from the options given below

1.B.D,C A
2A D CEB
3.ABCD

4 D, B C A
Options :
21052935265. 1
21052935266. 2
21052935267. 3
21052935268. 4

Question Number : 67 Question Id : 2105298982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fufeied 3 SRHAER Haiyd H1 -
A. fad@t g &1 gl
B. HUIT B

C. Hg1arg
D. WA 3URA

3 feo o fred 4 9 ol SR A

1.B.D,C A

2ZADCB

3.ABCD

4D, B C A

Options :
21052935265.
21052935266.
21052935267.
21052935268.

AW NN =

Question Number : 68 Question Id : 2105298983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IS and LM curve analysis explain

A. Product market equilibrium

B. Money market equilibrium

C. Capital market equilibrium

D. Foreign trade equilibrium

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3. A and B only
4. C and D only
Options :
21052935269. 1
21052935270. 2
21052935271.3
21052935272. 4



Question Number : 68 Question Id : 2105298983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T2 UY UUS UG UH RO SATe ST § -

A. 3G a9 HaH

B. 73l IR Hga-

C. Joil 99k HdaA

D. gl =R dgaH

i feu v fasedl § 4 98 IR 94

1. HadA 3R C
2. HAAA AR D
3. Bad A 3R B
4. HIACIHRD
Options :
21052935269. 1
21052935270. 2
21052935271. 3
21052935272. 4

Question Number : 69 Question Id : 2105298984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following situations represents an economic investment in the national income
calculation?

A. Buying a newly constructed house for self-occupation

B. Buying of new shares

C. Buying a new car by a publishing house for delivering books
D. Buying a new car by a household

Choose the correct answer from the options given below:

1. A, B and C only

2. A, B, Cand D only
3. A, Cand D only

4. A and C only
Options :
21052935273. 1



21052935274. 2
21052935275. 3
21052935276. 4

Question Number : 69 Question Id : 2105298984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AP 3/ B UH F FefaRad Rufadl 9 i 6 e Haw g -

A. 99 & &4 8d Ue Y i yaq ol @lie

. T TR DI WG

C. G| @l o8 ®M TR UgdH o foit Uk G UDbIRId gRI Udb 441 PR &I @il

D. Td e gRI U 741 &R &I Tl
-4 feu Ty faedl & § 981 I 94 -

1. HadA, B 3R C
2.A B C3RD

3. PAdA, C3HRD
4. HIAA 3R C
Options :
21052935273. 1
21052935274. 2
21052935275. 3
21052935276. 4

Question Number : 70 Question Id : 2105298985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the value of the equilibrium level of income for the data given below for an economy?

c=50+08Yy

1. 400
2. 300
3. 500
4. 600
Options :



21052935277. 1
21052935278. 2
21052935279. 3
21052935280. 4

Question Number : 70 Question Id : 2105298985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
F Hforaw & AU BT U i@ & IR 0 & Uqo- W Al 6

c=50+08Yd

1. 400

2. 300

3. 500

4. 600
Options :
21052935277. 1
21052935278. 2
21052935279.3
21052935280. 4

Question Number : 71 Question Id : 2105298986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

| abour force participation rate is given by

Labour force
x100

" Total population
5 No. of labour employed

100
Labour force
Labour force
3, %100
Adult population
No. of labour employed
= x100

Adult population
Options :
21052935281. 1
21052935282. 2
21052935283. 3
21052935284. 4



Question Number : 71 Question Id : 2105298986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ifag YrfaR! & TaRid eidl & ;

Options :

21052935281. 1
21052935282.2
21052935283.3
21052935284. 4

Question Number : 72 Question Id : 2105298987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GDP expressed in terms of current prices is called

1. Real GDP

2. Net Domestic Product
3. Nominal GDP

4. Gross National Product
Options :

21052935285. 1
21052935286. 2
21052935287. 3
21052935288. 4

Question Number : 72 Question Id : 2105298987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TOAM Hed1 & Yo # oiad I Iig SATG (SIS HEard & -

1. RGP Sl

2. F9a g IdE (HSI)
3. WA (ITEHTS) Sisidl
4. 9T APE IS
Options :




21052935285. 1
21052935286. 2
21052935287. 3
21052935288. 4

Question Number : 73 Question Id : 2105298988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following equations represent national income identity?

AY=C+|+X
BY=C+1l+G+5S
CY=C+Il+G+(X-M)

D.Y=C+1+G+ M
Choose the correct answer from the options given below:

1. A only

2. C only

3. B, Cand D only
4. A B and D only
Options :
21052935289. 1
21052935290. 2
21052935291. 3
21052935292. 4

Question Number : 73 Question Id : 2105298988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frafeRad Sl & 9 $1H AP 31 1 ugdH B1 UidFiId ol 6 -
AY=C+]+X

BY=C+1+G+5

CY=C+l+G+(X-M)

DY=C+1+G+M

T few 1 fawedl & 9 wEl S 9T

1. Had A

2. BaAA C

3. ®aa B, C AR D
4. HgdA B3R D
Options :
21052935289. 1
21052935290. 2
21052935291. 3
21052935292, 4

Question Number : 74 Question Id : 2105298989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 1I

A. Permanent Income Hypothesis . F. Modigliani
B. Relative Income Hypothesis 1. J. M. Keynes
C. Absolute Income Hypothesis 1. M. Friedman
D. Life Cycle Hypothesis IV. J. Dusenberry

Choose the correct answer from the options given below:

TA=ILB=1LC- IV, =]
2ZA-1,B-IV,C-1LD-1
3JA-NLB-ILC-LD-1V
4A-L,B-IV,C-1I,D-1
Options :

21052935293. 1
21052935294. 2
21052935295.3
21052935296. 4

Question Number : 74 Question Id : 2105298989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Geit-| Bl Taii-1l & Ty FHTd DIfore :

Tl -1l

A. I 31T B Hhedl . U HifSTTieraHi
B. WY& 310 B YdedAl L. 5.9, &g

C. FIRUE 319 1 Yo Il T, BRISHA
D. Sila dsb Bl Hhedl V. . SoiTa]
id feu e fawed! § ¥ 98l 3w g

TA-ILB-1LC-IV,D-1
ZA-1,B-IV,C-1ILD-1
3A-ILB-ILC-1,D-1V
4 A-1L,B-IV,C-1I,D-1
Options :

21052935293. 1
21052935294.2
21052935295. 3
21052935296. 4

Question Number : 75 Question Id : 2105298990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For any two equally likely, exhaustive and independent events A and B, P(AB) will be equal to

1.0

2.0.25

3.0.50

4.1
Options :
21052935297. 1
21052935298. 2
21052935299. 3
21052935300. 4

Question Number : 75 Question Id : 2105298990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
{21 ol GO, U, 9ed Ud Wad ge13l A 3R B & [oU p (AB) b S¥1& BRI ?

1.0
2. 0.25
3.0.50
4.1




Options :

21052935297. 1
21052935298. 2
21052935299. 3
21052935300. 4

Question Number : 76 Question Id : 2105298991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
What type of relationship exists between two variables, if all points on the scatter diagram
appear to fall on a straight line going upward from left to right?

1. Positive correlation

2. Perfect positive correlation
3. Negative correlation
4. Perfect negative correlation
Options :

21052935301. 1

21052935302. 2

21052935303. 3

21052935304. 4

Question Number : 76 Question Id : 2105298991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
&l IRad 9e®! & ard DH-91 98y 59 §, 37t 5@ 3 (el S99 R Ud IR fdg
a1 ¥ Tl 3R S WH W Ue ikl 3@ W Udid 8l & ?

1. YPRTHD Heaad

2. U} §h RIS Jeddy
3. APRHD Ggday

4. qUf THRTES Jeday
Options :

21052935301 1
21052935302. 2
21052935303. 3
21052935304 4

Question Number : 77 Question Id : 2105298992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given 'g" as the Standard Deviation of a given series and if to each and every observation of
the series is added a constant 'K, then what will be the Standard Deviation of the new series?

l.o+k
2.0-k

B )

4, ok

Options :
21052935305. 1
21052935306. 2
21052935307. 3
21052935308. 4

Question Number : 77 Question Id : 2105298992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot <1 173 4ol & 9 faged & ®u H ‘o fegr 7 & 3R afe 39 4ufl & Udd SiaaidHl &
T 394 RRI® 'k FIS1 I1dl &, 96 5 YUl &I HHS (e ol GR ?

l.o+k
2o-k

o

4, gk

Options :
21052935305. 1
21052935306. 2
21052935307. 3
21052935308. 4

Question Number : 78 Question Id : 2105298993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following price Index numbers satisfy the Factor Reversal Test?

1. Laspeyres Price Index Number
2. Paasche's Price Index Number
3. Walsh's Price Index Number
4. Fisher's Price Index Number
Options :

21052935309. 1

21052935310. 2

21052935311. 3

21052935312. 4



Question Number : 78 Question Id : 2105298993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fofefas g0 qEaisl § 9 &1 - 910 - 3chy0l Sid & OdP $dl 6 ?

1. TRUTE Hed Jaoih
2. UTES] e Yool
3. QI @1 Hed gadid
4. ool 79 QEdi
Options :
21052935309. 1
21052935310. 2
21052935311. 3
21052935312. 4

Question Number : 79 Question Id : 2105298994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

< List II
List |
Statistic Standard Error
= G: 2 0.2
A. Sample Mean (%) I. (( 5 /an) +( 2 2,”:)
N
B. Sample Variance (5%) I, }(Gi_fnl) + (Gf,fﬂ:)
v
C. Difference of two independent sample means a
CoEE .~/
(X, — X;)
D. Difference of two independent sample 2 2
standard Deviations (s, — S5) L n

Choose the correct answer from the options given below:

TA-ILB-W,C-1I,D-1
2ZA-ILB-ILC-IV,D-I
JA-ILB-IV,C-I,D-1
4A-LB-IILC-NLD-1V
Options :

21052935313. 1
21052935314. 2
21052935315.3
21052935316. 4



Question Number : 79 Question Id : 2105298994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 DI Yi-11 b H1Y FAT BT ;

Eﬁﬂ‘| -1

e AHS T

P S— e )
B. Hfa=] TR (s2) ' ql[(ﬁlzfﬂi)+(ﬁffﬂr)

C. Gl Tacl Ufcie®! 714l &1 3 (%, — %,) [ Jf‘jﬁ

D. & WA AF® fageH! &1 3 (s; — s,)

<

o
fa
I

Rt e R e

TA-ILB-IV,C-Il,D-|
2ZA-ILB-ILC-IV,D-1
JA-ILB-IV,C-LLD-1I
4A-LB-IILC-ILD-1IV
Options :

21052935313. 1
21052935314. 2
21052935315.3
21052935316. 4

Question Number : 80 Question Id : 2105298995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given the sample size 400 with sample mean 99, the population mean 100 and computed
value of z - statistic at - 2.5, the value of population standard deviation will be

1. 59.17

2.123.46

3.8

4. Cannot be determined
Options :

21052935317. 1
21052935318.2
21052935319. 3
21052935320. 4



Question Number : 80 Question Id : 2105298995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fau U ufaesl seR 400 @1 ufae™l A1 99, YA H1e [@IQTRH HiH) 100 7Y z - Wid®
(efeRem) 1 uRSd 99 (@S dcg) - 2.5 7, I YHEd AF® fagad (GIgasH 55
ECLEEIEARCEUIE

1.59.17

2. 12346

3.8

4, il
Options :
21052935317. 1
21052935318. 2
21052935319.3
21052935320. 4

Question Number : 81 Question Id : 2105298996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If the disturbance term is heteroscedastic, which one of the responses based on given
statements is true?

A. OLS estimates are biased

B. OLS estimates do not have the minimum variance property

C. Tests of significance based on OLS estimates will be inaccurate
D. OLS estimates are inconsistent

Choose the correct answer from the options given below:

1. A and B are true only
2. A and C are true only
3. B and C are true only
4. A and D are true only
Options :

21052935321. 1
21052935322. 2
21052935323. 3
21052935324. 4

Question Number : 81 Question Id : 2105298996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

ofg a1yl ug fAvefaar] @cifasies) o dl 9 @yl & YR R &9 -91 39 Jal sl 7

A. 31 T U9 (OLS) 3 gaiie gl g1

B. 31 Ud1 TF (OLS) HTHM & gAaH WERU U =6l 5|

C. 31 T8 TF (OLS) HTHH & YR W Tewd BT THa0 &1 HOum g
D. 3l Td TH (OLS) HTHH HTd ¢ |

- feu 7Y fasedl § ¥ 98 S gAY

1. Had A N B 9ol &
2. Bad A 3R C Hal gl
3. Paa B A C Bl 8l
4. Had A R D Hel gl
Options :
21052935321, 1
21052935322, 2
21052935323. 3
21052935324 4

Question Number : 82 Question Id : 2105298997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Based on the order condition, state whether the first equation is identified?
Given the following structural model.

Y1 = 3Y2 - 2%1 + X2 + Uy

Y2=Y¥3+ X3+ Up

Y3 =Y1-Y2-2x3+ U3

where y's are the endogenous variables, x's are predetermined variables and u's are random
terms

1. Over ldentified

2. Under Identified

3. Exactly Identified

4, Information not sufficient
Options :

21052935325. 1
21052935326. 2
21052935327. 3



21052935328. 4

Question Number : 82 Question Id : 2105298997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HY T (ST DolRF) & YR IR 9aid fob HEfaRad § I & 91 ugan gHiau ™igd
(HFSCBIES) 87

T UlagH (Cdada Hisd) S ISR G U & ;

Y1 = 32 - 2%1 + X5 + Uj
Y2=Y3 + X3+ Uz

Y3 = Y1-Y2-2X3 F Us
el y i TR E= o9 aRuen), « [Ehyifd =2 aur u T ug fe o) B

1. 3l [IfEd (3SR B e ikwEs)

2. 3] FfRd (31 ARel<mREs)

3. Odl® fafgd (wasiged] AsefieihaRM)
4. AT HUhie B

Options :

21052935325 1

21052935326. 2

21052935327 3

21052935328. 4

Question Number : 83 Question Id : 2105298998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following response is true as a solution for simultaneous equation bias?
A. OLS Method

B. Principle Component Method

C. Two-Stage Least Square Method (2 SLS Method)

D. Full Information Maximum Likelihood Method (FIML)

Choose the correct answer from the options given below:

1. A and B are true only
2. B and C are true only
3. Cand D are true only
4. A and D are true only



Options :

21052935329. 1
21052935330.2
21052935331.3
21052935332. 4

Question Number : 83 Question Id : 2105298998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TIUd PR YA (HI5Hce g 36 a139) 3 (08 HEiaRad § § ®1F - H 50 9ol St § 7
A. 311 7T T (OLS) Homedl

B.UYH U Jorrel (Uigd dwHe dys)

C. T¢ TR g=ag & fafd gunell (€ ¥8 wiie e 4ys)

D. QU STH&R] HfEdmas HHTGH1 ol (T 315 UH Ua)

i fgu ¢ fashedl ¥ O IR 94

1. Had A N B 9ol &
2. Had B AR C ol g
3. ®ad C AR D T8l 8l
4. B AN DHel el
Options :
21052935329. 1
21052935330. 2
21052935331, 3
21052935332. 4

Question Number : 84 Question Id : 2105298999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A time series, under the condition E(x;) = p and Cov (x;, Xt-i) = Y(k) is said to be

1. Strictly Stationary
2. Non Stationary

3. Weakly Stationary
4. Can't be defined
Options :
21052935333. 1
21052935334. 2
21052935335.3
21052935336. 4



Question Number : 84 Question Id : 2105298999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U E(x) = 1 TYT Cov (% , %) = Y(k) T TOT Y@en (@128 Uive) Hgffad © O «1 seardl &

7

1. orEs ® 4 AR (e ®o)
2. ¥ - AR @F B3

3. &fior U d RRR [died LeE)

4, UM

Options :

21052935333, 1

21052935334. 2

21052935335. 3

21052935336. 4

Question Number : 85 Question Id : 2105299000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List 1 with List 11

List 1 List 1l

A. Linear Function Ly=3x>+2x+9
B. Quadratic Function Il y = 5%

C. Exponential Function Il y = 3e™

D. Power Function IV.y =5x + 3

Choose the correct answer from the options given below:

TLA-IV,B-1L,C-1,D-1
ZA-IV,B-1L,C-1I,D-10
3A-IV,B-1II,C-1IILD- |
4A-1LB-ILC-LD-1V
Options :

21052935337. 1
21052935338. 2
21052935339.3
21052935340. 4

Question Number : 85 Question Id : 2105299000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tal-1 B Gdi-1l o 1Y GHEd BT ;

Tl 11l

A. 3WH e Ly=3x2+2x+9
B. fgdrdl meH Ly = 5¢

C. "UTdid! B .y = 3eX

D. TR e IV.y = 5x + 3
i< fgu 7L fadhedi § 4 el 3w gHU:

TLA-IW,B-1LC-1I,D-1
ZA-IV,B-1,C-1L,D-1
3A-IV,B-1I,C-1IILD -1
4 A-1,B-ILC-,D-1V
Options :

21052935337. 1
21052935338. 2
21052935339.3
21052935340. 4

Question Number : 86 Question Id : 2105299001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given the Total Revenue function, TR = 1400Q - 6Q° and Total Cost function, TC = 1500 + 80Q,
at Q = 100 units (where Q is the amount of output), which one of the following responses is
correct?

A. MR > MC

B. MC =80

C. MR =« MC

D. MR = MC

Choose the most appropriate answer from the options given below:

1. A and B are true only
2. B and C are true only
3. B and D are true only
4. Can't be defined
Options :
21052935341. 1
21052935342. 2
21052935343.3
21052935344. 4



Question Number : 86 Question Id : 2105299001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Q = 100 34! (Sel @ Ffa &1 9m1 8) W &el Io"d Ba- TR = 1400Q - 6Q2 941 $d AN
BaH TC = 1500 + 80Q fagr 4 8 | Rufafad § 9 S99 3 Wl o7

A. MR > MC
B.MC =80
C. MR < MC

D. MR = MC
=i feu 71 faeedl ¥ T8I IR 90 :

1. Had A N B 9ol &

2. Had B AR C ol g

3. PaaB AR D TRl &

4, GRYIEd Fal fhar o1 Oddr
Options :

21052935341. 1
21052935342. 2
21052935343, 3
21052935344. 4

Question Number : 87 Question Id : 2105299002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given the production function, Q = 10 198 K02 the Marginal Product of Labour (MP{) and
Capital (MPy), respectively are given by

A. MP, = 8 (K/L)%2
B. MP_ = 8 (L/K)%2
C. MPg = 2 (L/K)8
D. MPy = 2 (K/L)0®
Choose the correct answer from the options given below:

1. A and D are true only
2. A and C are true only
3. B and C are true only
4. B and D are true only

Options :



21052935345. 1
21052935346. 2
21052935347. 3
21052935348. 4

Question Number : 87 Question Id : 2105299002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

JdEd Be q = 10 L8 k02 f3a1 71 3, 49 Ud Usll &1 O Id1a! (MP 3R Mpy) &I 59 TSR
fear <ird E‘?

A. MPy = 8 (K/L)%2
B. MP_ = 8 (L/K)%2
C. MPg = 2 (L/K)048
D. MPy = 2 (K/L)%2
e feg 7y fawed! 4 @ w6 I IR

1. Had A R D Fel 6l
2. Bad A 3R C Hal gl
3. Paa B AR C el e
4. HagaBARDTE &
Options :
21052935345, 1
21052935346. 2
21052935347. 3
21052935348, 4

Question Number : 88 Question Id : 2105299003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

5 8 3
Assertion A: If A is any Matrix given by A =(—1 0 2) then det A = 0, since all elements in
: I O |

column Il are zero
Reason R: Laplace expansion permits evaluation of a determinant along any row or column

In light of the above statements, choose the most appropriate answer from the opticns given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935349. 1

21052935350.2

21052935351. 3

21052935352. 4

Question Number : 88 Question Id : 2105299003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i gl Ty RUTU § : T Bl S1fiduH (A) AR TR &I a& (R) el T & ;

5 0 3

Hﬁﬁﬂ?mymﬁﬂ@ﬁﬁ?ﬁ%ﬁ@ﬁﬂﬂﬁﬁﬁmﬁm%ﬁ=(1 nz)ﬂﬁ%ﬁﬁﬂuﬁﬂm
1 0 1
3H5Yqd (TeiHed) U e didet A = 0 B

dd (R) : Ay AR el off uied eryar orad & O1Y FuRe® ((Seftd=<) & gegie &t
I a8l

Sudad HYHl & Aeis H Fgifed Aol § 3 gaiftes Suged 3w 94 :

1. (A) AN (R) TF TEl € 3R (R), (&) ! el A& & |

2. (A) 3R (R) G 98l & 3R (R), (A) B! Ge! 1T ol g
3. (A) 981 8 R4 (R) el Tel o

4, (A) 951 75T § U (R) TSI o

Options :

21052935349, 1

21052935350 2

21052935351, 3



21052935352. 4

Question Number : 89 Question Id : 2105299004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given the Total Cost, TC = Q° - 10Q% + 60Q, what will be the Minimum average cost? At what
level of output will the minimum cost occur? (Q is the level of output)

1. Minimum average cost is ACy, = 35atQ =15
2. Minimum average cost is ACyj, = 175atQ =5
3. Minimum average cost is AGyi, = 170at Q = 1

4. Minimum average cost is AGy;, =45atQ =1
Options :

21052935353. 1

21052935354. 2

21052935355.3

21052935356. 4

Question Number : 89 Question Id : 2105299004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T @G TC = Q3 - 10Q% + 60Q B T3 8| a9 f19d o gl Fia F aH A TR W
<AdH I 3Tl 87 (Q Al dT &R g)

1.Q = 5 O Ay HGd TR ACy, = 35 €|
2.Q = 5 IR AqH H1d TRTd ACyi = 175 &1
3.Q = 1 W HAad 3%d dFTd ACy;, = 170 B
4.Q = 1 R a9 AT TR ACyyi, = 45 B
Options :

21052935353, 1

21052935354, 2

21052935355, 3

21052935356, 4

Question Number : 90 Question Id : 2105299005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a valid objective function as a linear proagramming problem?

1. Max Z = SxE}f

2. Max Z = 3x + 2y + 8xy
3. MinZ = 2% + 3y°

4 MinZ =5x + 2y



Options :

21052935357. 1
21052935358. 2
21052935359.3
21052935360. 4

Question Number : 90 Question Id : 2105299005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IEH YA Y & = U H FEieied | § @14 99 Sissided B o

1. Max Z = SxEy

2. Max Z = 3x + 2y + 8xy
3. Min Z = 2x% + 3y?

4 MinZ =5x + 2y
Options :

21052935357 1
21052935358.2
21052935359. 3
21052935360. 4

Question Number : 91 Question Id : 2105299006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If no industry (sector) draws its own output as input, then the principal diagonal element in the
.

Technological Coefficient Matrix will be

1. -1
+1

. LETO

T

. Infinity
Options :
21052935361. 1
21052935362. 2
21052935363. 3
21052935364. 4

Question Number : 91 Question Id : 2105299006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe Big Hi I (Hde) 30 Ffd 1 3FT & & H 81 ol dl 1] ulie Jicad § JuH
faaoff s/ag Fafifed & 9 1@ grm:

=1

241

3. 9

4, ¥IFT
Options :
21052935361. 1
21052935362. 2
21052935363. 3
21052935364. 4

Question Number : 92 Question Id : 2105299007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are Hawkins—Simon conditions?

A. Determinant A should be positive

B. Determinant (I-A) should be positive

C. Determinant (I-A) should be negative

D. Principal diagonal elements of Matrix (1-A) should be positive
Choose the correct answer from the options given below:

1. A and C are true only
2. A and D are true only
3. B and D are true only
4. C and D are true only
Options :

21052935365. 1
21052935366. 2
21052935367. 3
21052935368. 4

Question Number : 92 Question Id : 2105299007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Blith - URA B Yo A1 6 ?

A U@ e A 49 F 51 91|

B. FHuR® (f&eXfTHe) (1 - A) 8T 51 1T

c. FuR® (fSeiFe) (1 - A) FUTES 81 It

D. Bfee (1 - A) T U fdmull 3@0g ¢H1E® eiH1 diiet|
A feu 77T fgopedl H 9 981 SR 9

1. Had A 3R C Tal 8l
2. Haa A R D TRl &
3. ®ad B AR D Ul gl
4. Hgd C 3R D Fol gl
Options :
21052935365. 1
21052935366. 2
21052935367. 3
21052935368. 4

Question Number : 93 Question Id : 2105299008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the study of International Economics, we use the tools of

1. Microeconomic theory only

2. Macroeconomic theory only

3. Neither micro nor macro economic theory

4. Both micro and macro economic theory but we all extend, adapt and integrate them
Options :

21052935369. 1

21052935370. 2

21052935371. 3

21052935372. 4

Question Number : 93 Question Id : 2105299008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Haq AP e fHgid o1

2. acl THPHTS S FHGid B
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GG

Options :

21052935369. 1

21052935370. 2

21052935371. 3

21052935372. 4

Question Number : 94 Question Id : 2105299009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List Il

A. Absolute Advantage Theory of International Trade |l. Heckscher-Ohlin

B. Factor Proportion Theory of Trade Il. Marshall
C. Offer Curves Il. Adam Smith
D. Opportunity Costs IV. Haberler

Choose the correct answer from the options given below:

TA-LB-N,C-1,D-1V
ZA-NILB-I,C-1,D-1V
32A-1L,B-NILC-IV,D-1
4A-LB-LC-IV,D-1l
Options :

21052935373. 1
21052935374. 2
21052935375.3
21052935376. 4

Question Number : 94 Question Id : 2105299009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tal-1 B Gdi-1l o 1Y GHEd BT ;

BEIR Ti-11

A. SRIPTY oTuR flsid FRde @ |. g - figfera
B. BR® 3-UId UR B [G&id IL. Tl

C. 34U b . TeH Ry

D. TG TN V. BEER

i< fgu 7L fadhedi § 4 el 3w gHU:

TLA-L,B-N,C-1,D-IV
ZA-NILB-I,C-1,D-1V
32A-1L,B-NILC-IV,D-1I
4A-LB-LC-IV,D-1l
Options :

21052935373. 1
21052935374. 2
21052935375.3
21052935376. 4

Question Number : 95 Question Id : 2105299010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Transportation cost of trade effects:

A. Pattern of trade

B. Boundaries between tradable and non-tradable goods
C. Global supply chains

D. Boundaries of non-tradable goods

Choose the correct answer from the options given below:

1. A and B only

2. A, B and C only

3. A, B, Cand D only
4. D only

Options :
21052935377. 1
21052935378. 2
21052935379. 3
21052935380. 4

Question Number : 95 Question Id : 2105299010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

LI ®1 URde arld UHIfdd &3dl 6
A. TFE & U Bl
B. TOGH ®- 41g 3R AGHd ol @3- 4 9 & dig 99 $

C. af%® amafd YEe ol
D. 7439 el B3 A 9| @1 OiF &I
fofefeq faeal 4 T odi sae g .

1. I A 3T B

2. BAAA, B IR C
3.A B C3RD

4. Hgd D
Options :
21052935377. 1
21052935378. 2
21052935379. 3
21052935380. 4

Question Number : 96 Question Id : 2105299011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e &l DY AT TU E : U I SfHPYU (A) 3R GH P b (R) PoT AT :
HDHYH (A) : HIHGA D1 GHardl d 018 ARIA-T-R 2d DI G o1 o7 =it
b (R) : 3T ¥ Faid 767 qUT SAid 9 gl B

Iuded HYHl & Hele § Fgiied fadmedl d U Gaiids 3uged 3 94 ;
A) 3R (R) THT FE1 € 9TR (R), (A) P H61 AR R

A) 3T (R) GHT HE1 € 31 (R), (A) BT e RAT 81 &
:i}iTéT%iﬂ?ﬁj[R}Tﬁﬁ?f%W

A) TS & T (R) WEl &

Options :

21052935381. 1

21052935382. 2

21052935383. 3
21052935384. 4

1.
2. (
3. (
4, (

Question Number : 96 Question Id : 2105299011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Marshall-Learner condition should be fulfilled for the success of devaluation
Reason R: Devaluation makes exports costly and Imports cheaper

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935381. 1

21052935382.2

21052935383. 3

21052935384. 4

Question Number : 97 Question Id : 2105299012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Forward exchange rates are useful for those who wish to

A. Protect themselves from the risk that the exchange rate will change before a transaction is
completed

B. Gamble that a currency will rise in value

C. Gamble that a currency will fall in value

D. Exchange currencies at a point in time in the future
Choose the correct answer from the options given below:

1. A, B and C only

2. A and B only

3. A and C only

4 A B, CandD only
Options :
21052935385. 1
21052935386. 2
21052935387. 3
21052935388. 4



Question Number : 97 Question Id : 2105299012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
are] faFHYg &Y e Y arHed® § il :

A. %90 @1 39 WIfGH ¥ Q&1 I18d ¢ [ YogdeR W 8- & 4d faf+9g g3 § gfiadH erT|
p. T8 14 TR T =16d & o H51 91 Hed §e|

C. U8 Gid U TRTHI dTed & [ Gl &1 e g
D. 4igsg ¥ fardl 99y fdg IR gx1 &1 480 &1 9i5d ¢
fafeRad fasweal § 4 98l Sae gfd

1, A A, B AR C
2. Had A 3R B

3. HadA IR C
4. A B, C3RD
Options :
21052935385. 1
21052935386. 2
21052935387. 3
21052935388, 4

Question Number : 98 Question Id : 2105299013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Overshooting model of exchange rate developed by economist Rudi Dornbush, attempts to
establish

1. The fact why the foreign exchange market is never in equilibrium

2. Relationship between sticky prices and volatile exchange reates

3. The fact that forward rates of exchange are not good predictors of future spot rates of
exchange

4. No relationship between sticky prices and volatile exchange rates

Options :

21052935389. 1

21052935390. 2

21052935391. 3

21052935392. 4

Question Number : 98 Question Id : 2105299013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935389. 1

21052935390. 2

21052935391. 3

21052935392. 4

Question Number : 99 Question Id : 2105299014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Changes in terms of trade typically put less developed countries at a disadvantage, because

1. They specialize and trade in agricultural goods rather than manufactured goods
2. They have higher labour costs

3. They specialize and trade in services like tourism

4. Industrialized countries practice unfair trade with less developed countries
Options :

21052935393. 1

21052935394. 2

21052935395. 3

21052935396. 4

Question Number : 99 Question Id : 2105299014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EuE &1 T & gRada ¥ a2y wu 9 oy [Ge it i &f g1 8l & a9ifes -
1. 3@ [aRINdl a4l oIau &Y et axgsil § sidl o A o [ axgei |

2. 3P %9 AFd 3= gidl o

3. 30! [aRIusdr au oagryg uded ol garsi § sidl o

4, FETPd o Hed Oeiad o & Y fad a9 T o |
Options :

21052935393, 1

21052935394. 2

21052935395. 3

21052935396. 4

Question Number : 100 Question Id : 2105299015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Match List 1 with List 11

List | List Il
A. Rybezynski Theorem I. The effect of tariffs on factor prices
B. Metzler effect |l. The effect of factor growth on production and trade

C. Stolper-Samuelson Theorem|lll. The effect of tariffs on domestic prices

D. Immiserising growth theory (IV. The effect of growth on terms of trade

Choose the correct answer from the options given below:

TA=ILB=1LC-1, D-I
2ZA-IV,B-IILC-I,D-1
32A-IV,B-1LC-NILD-1
4 A-ILB-LC-ILD-1IV
Options :

21052935397. 1
21052935398. 2
21052935399. 3
21052935400. 4

Question Number : 100 Question Id : 2105299015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tal-1 B Gdi-1l o 1Y GHEd BT ;

Tl -1
A. el &1 fasid |. IUTGH HIHT UR U[ch DI YHId
: . I1. SeTeH R agl R 3UGH gig B
B. HeW @I [Hgid e
C. RITeR - JHeTEH 31 1, R T R T
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d feu e fawenl § ¥ 981 S g

TA=ILB=1LC-1 D=
ZA-IV,B-1IILC-I,D-1
JA-IVB-LC-NILD-1
4A-ILB-LC-,D-1IV
Options :

21052935397. 1
21052935398. 2
21052935399. 3



21052935400. 4

Question Number : 101 Question Id : 2105299016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The Rybczynski theorem postulates that at constant commaodity prices, an
increase in the endowment of one factor will increase by a greater proportion the output of
the commodity, intensive in that factor and will reduce the output of the other commodity

Statement lI: The Stolper-Samuelson theorem postulates that an increase in the relative price
of a commodity (for example as a result of a tariff) decreases the return or earnings of the
factor used intensively in the production of the commodity

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4, Statement | is correct but Statement 1l is true
Options :
21052935401. 1
21052935402. 2
21052935403. 3
21052935404. 4

Question Number : 101 Question Id : 2105299016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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HYH-1| : TR JuayH bSid & 98 Sa1740 § & fedl g o1 gua saH gl gH |
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SUded BYH( & ATeiie § Fgifed faeedl § U 98l SR 9

1. BYA-1 AR FYH-1I G T8l 2
2. BYH-1 AR BUH-II GHI Tad 8
3. BYH-| TEl o, faog HYH-11 TTed o
4. DYF-1 TTad &, h=q HUH-11 8l e

Options :




21052935401. 1
21052935402. 2
21052935403. 3
21052935404. 4

Question Number : 102 Question Id : 2105299017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which one of the following is NOT the objective of IMF?

1. To promote international monetary cooperation
2. To ensure balanced international trade

3. To ensure exchange rate stability

4. To provide loans to the private sector

Options :

21052935405. 1

21052935406. 2

21052935407. 3

21052935408. 4

Question Number : 102 Question Id : 2105299017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935405. 1

21052935406. 2

21052935407. 3

21052935408. 4

Question Number : 103 Question Id : 2105299018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The concept of Goods and Service Tax (GST) is originated in

1. Canada
2. Britain

3. Germany
4, USA



Options :

21052935409. 1
21052935410.2
21052935411.3
21052935412. 4

Question Number : 103 Question Id : 2105299018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Hd Ud YT (Gl TH &) Bl HGURU doi L= g 41 7

1. Dlsl

2. fsieA

3. ST
49THT
Options :
21052935409. 1
21052935410.2
21052935411.3
21052935412. 4

Question Number : 104 Question Id : 2105299019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Mrs Ursula K. Hicks stated that "Private finance, whether of firms or individuals,
starts with a given income plan as a framework within which expenditure must be planned;
public finance, on the contrary, starts with a given expenditure plan and the authorities adjust
their income by means of taxes and resources to match the expenditure

Statement lI: Prof. Shiras pointed out that "Public authorities differ from private expenditure
in that the former should balance income and should not necessarily seek a profit in the
manner that an individual would”

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true
Options :

21052935413. 1

21052935414. 2

21052935415. 3

21052935416. 4



Question Number : 104 Question Id : 2105299019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EIE IR IC AT M
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1. DY | R 1| G el 8|
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4, ®YF-1 A9 &, [ FYH-1 Gel 2|
Options :

21052935413. 1

21052935414. 2

21052935415. 3

21052935416. 4

Question Number : 105 Question Id : 2105299020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"The best system of taxation from the economic point of view is that which has the best or the
least bad economic effects”. Who said this?

1. Musgrave

2. Marshall

3. Hugh Dalton
4. Pigou
Options :
21052935417. 1
21052935418.2
21052935419. 3
21052935420. 4

Question Number : 105 Question Id : 2105299020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

3 =91 § @ [RuRo et 98 § o I a1 gHad §¢ e wu[ Bl -

1. AGUd

2. HrEfa
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Options :
21052935417. 1
21052935418. 2
21052935419. 3
21052935420. 4

Question Number : 106 Question Id : 2105299021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Inadequacy or absence of KYC (Know Your Customer) standards can subject a bank to serious
and counter party risk as follows

A. Reputation risk

B. Compliance risk

C. Legal risk

D. Bankruptcy risk

Choose the correct answer from the options given below:

1. A, B and D only
2. A, B and Conly
3. B, Cand D only
4. A Cand D only
Options :
21052935421. 1
21052935422. 2
21052935423. 3
21052935424. 4

Question Number : 106 Question Id : 2105299021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. Hgd A, B3R D
2. BAAA, B3R C
3. BAA B, C AR D
4. BIAA, C3HR D
Options :
21052935421, 1
21052935422 2
21052935423, 3
21052935424. 4

Question Number : 107 Question Id : 2105299022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the maximum penalty to be imposed under the Negotiable Instruments Act for
bouncing of a cheque?

1. 6 months
2.1 year

3. 2 years

4. 5 years
Options :
21052935425. 1
21052935426. 2
21052935427.3
21052935428. 4

Question Number : 107 Question Id : 2105299022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. 6 Hig
2194
3,239
4,594
Options :
21052935425. 1
21052935426. 2
21052935427. 3
21052935428. 4

Question Number : 108 Question Id : 2105299023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The main cause of commercial bank failure is because of providing inappropriate
loans to bank insiders
Reason R: Bank employees are provided loans at lower interest rates

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052935429. 1

21052935430. 2

21052935431. 3

21052935432. 4

Question Number : 108 Question Id : 2105299023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935429. 1

21052935430. 2

21052935431. 3

21052935432. 4

T
2.
3.
4.

Question Number : 109 Question Id : 2105299024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Seigniorage in banking means

A. The economic cost of providing a currency within a given economy

B. The difference between the face value of money and the cost of providing it
C. The cost involved in running ATMs

D. The costs of making debit/credit cards in an economy

Choose the correct answer from the options given below:

1. A and C only
2. B and C only
3. B and D only
4. A and B only
Options :
21052935433. 1
21052935434. 2
21052935435.3
21052935436. 4

Question Number : 109 Question Id : 2105299024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

st o gar oo ok @1 fiuE

A. fordi €1 713 SrfoHaw®I1 & 3faY gal Sudel daH ol Sfid® arld
B. g%1 & 3iftod Yod IR SUD| SUas HRaH B Arld & aid & Hal

C. TSI v 9o H e anTd
D. U Jjoaeul H Sfae / hfge dreg o-9H &I alrld
i f&u ¢ fasedl © ¥ U8 IR Y

1. HadA 3R C
2. HaAAB AN C
3. BAAB AR D
4. Had A N B
Options :
21052935433. 1
21052935434. 2
21052935435. 3
21052935436. 4

Question Number : 110 Question Id : 2105299025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Markowitz theory of portfolioc management considers which of the following assumptions?
A. Investors are pessimistic about start-ups but optimistic about an established business

B. Investors have free access to fair and correct information on return and risk

C. Investors have a tendency to lean towards cryptocurrencies

D. Investors are rational and maximize their utility with a given level of income and money
Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. Cand D only
4. A and C only
Options :
21052935437. 1
21052935438. 2
21052935439. 3
21052935440. 4



Question Number : 110 Question Id : 2105299025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aldiigesl & UIchiied! Haed Rgid Haieiad gayRuna W fdaR @dal 6 ;

A. Fd9e ®1e - 3ug & ufd FremErd) § 1 it R & ufd e 2 |

B, AT @ idhd Ud Sied 1R 3iHd 7T 98! a1 o Had Ugd o

c. fhpIgeT (fhpid ) & Ufd Fazie! &l gerd &l UgRi g1

D. Fa9I® G92GR & 3R d 1 T3 3 aY1 89 & wR & 91y AT Jaieddl &1 9¢1d ¢ |
- feu 7Y fgdedl ¥ 98 SR gAY

1. HId A H B
2. BAA B AR D
3. ®ad C 3R D
4. HFAA R C
Options :
21052935437. 1
21052935438. 2
21052935439. 3
21052935440. 4

Question Number : 111 Question Id : 2105299026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Banking Cash Transaction Tax (BCTT) was introduced with effect from

5t Jan, 2015
st June, 2005
5t Jan, 2019
st June, 2009
Options :
21052935441. 1
21052935442. 2
21052935443. 3
21052935444. 4

el el el el

Fa L o

Question Number : 111 Question Id : 2105299026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=0 oy T dfdeT gician da (@l 91 21 2 sy i 7

1. U SHd4, 2015
2. U 9, 2005

3. Uh SiHadl, 2019
4, T 9, 2009
Options :
21052935441, 1
21052935442. 2
21052935443. 3
21052935444, 4

Question Number : 112 Question Id : 2105299027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TS Py RU T T : U B 2HU (A) 3R GHL &I 9 (R) DT T :

SHHDHYH (A) : dlee. Sooyg, Al & JTHR, T(d U B o (AU ATa=ad [dord &i U i §
T AR faceh agdi & SjeHT A 5|

d (R) : e fdmTd DI 7Tid 964 & oIt Tl = & go- gq Uvc 3R [acEi gadi &l SeH
H
Suded By & Heie § Fgiied fdeedl § 1 981 3w dH

(A) 3R (R) GFT Fal & 311X (R), (A) B! ol AR 5

(A) 3R (R) THT FEI € 3MR (R), (A) B Hel AT Tgi 5
() TE1 & TR (R) Te! Tl o

(A) el T8l & U (R) He1 B

Options :

21052935445. 1

21052935446. 2

21052935447. 3

21052935448. 4

1.
2.
3.
4.

Question Number : 112 Question Id : 2105299027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Walt W. Rostow, the Principle Strategy of Development necessary
for take-off was the mobilization of domestic and foreign savings

Reason R: Mobilization of domestic and foreign savings is necessary to generate sufficient
investment to accelerate economic growth

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052935445. 1

21052935446. 2

21052935447. 3

21052935448. 4

Question Number : 113 Question Id : 2105299028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to traditional neoclassical growth theory, output growth results from
A. Increase in labour quantity and quality

B. Increase in capital

C. Increase in exports

D. Improvement in technology

Choose the correct answer from the options given below:

1. A, B and C only
2. A and B only

3. B and C only

4. A B and D only
Options :
21052935449. 1
21052935450. 2
21052935451. 3
21052935452. 4

Question Number : 113 Question Id : 2105299028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

RUR® A9Rd g dfe Figid & oER e ¥ais feads gRumeEg gl B
A YT D HEAT U Eaa H 3G

B.Ysl @1 gfg ¥

c. Fafdi#alg

D. WEifa! § gur 9

il feu 7 famedl § ¥ Uad Sugdd 3o’ o 90 i -

1. HadA, B AR C
2. Had A 3N B

3. BAAB AR C

4. Had A, B3R D
Options :
21052935449. 1
21052935450. 2
21052935451, 3
21052935452. 4

Question Number : 114 Question Id : 2105299029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The endogeneous growth theorists suggest, investment in human capital,
innovation and knowledge leads to economic growth

Statement lI: Investment in human capital, innovation and knowledge reduces the
diminishing returns on investment

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement [l is correct
Options :

21052935453. 1

21052935454. 2

21052935455.3

21052935456. 4



Question Number : 114 Question Id : 2105299029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EIETAL R E A RIS

@YH-| ;3 vadf 9fE Risidl & yad® 96 Y9 &d & & 919d Qofl, 7a19R U4 34 & &3 3
3w ¥ e e glar g

®UH-1l : HHqYSl, TaER Ud I & &7 H Fa% &3 9 Fa¥ W 3REH Uiabd o oidl ol
Sudad YAl & el J Fgiiad idhedl § 9 T8 W 94 ;

1. DY | 3R 1| GH F21 B

2. ®Y | AR || GF TTad 8|

3. BYH-1 T g, fooq YH-11 7Tad &
4 DYF-| 3YA g, b FY3-11 Gel 2|
Options :

21052935453. 1

21052935454. 2

21052935455. 3

21052935456. 4

Question Number : 115 Question Id : 2105299030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A decision free framework to identify a country's most binding constraints on economic
growth is termed as

1. Growth paradigm
2. Growth diagnostics
3. Growth stimulus

4. Growth paradox
Options :
21052935457. 1
21052935458.2
21052935459. 3
21052935460. 4

Question Number : 115 Question Id : 2105299030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks :



e gl W el G0 &1 Falltie aTed Rl ST &1 UgdH $ o [0 o g5 gid i
CEEIGINE

1. g OidaH

2. 3fg AgiFe

3. 3fg Iu®d

4. 9fg fRIgm™
Options :
21052935457. 1
21052935458. 2
21052935459. 3
21052935460. 4

Question Number : 116 Question Id : 2105299031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following growth economists in chronological order of when they proposed their
theories

A. Harrod

B. Schumpeter

C. Rostow

D. Solow

Choose the correct answer from the options given below:

1.B,A CD

2.C,D,B A

3.3ACDB

4 D, B A C

Options :
21052935461.
21052935462.
21052935463.
21052935464.

AW N -

Question Number : 116 Question Id : 2105299031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fufeiad Tl el &1 390 [USid S HHHUR Haieyd S ;
A TS

B. YFIR
C. =T

D. gral
2 feu e fageul § 9 98l S 94

1.B.ACD
2CD,B A
3.3ACDB
4 D, B A C
Options :
21052935461.
21052935462.
21052935463.
21052935464.

AW N =

Question Number : 117 Question Id : 2105299032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A growth model in which there are diminishing returns on each factor of production but
constant returns to scale and exogenous technological change that generates long term
economic growth is the

1. Leibenstein model
2. A. K. Sen model

3. Kalecki model

4. Solow model
Options :
21052935465. 1
21052935466. 2
21052935467. 3
21052935468. 4

Question Number : 117 Question Id : 2105299032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9¢ Ygls ufqu @iy Aisq) g Idie & Udd 9144 & gradHE Ufiaary 8 0 i9H & R
Uley § SR sfgsiid Weifie] gRad- 9 ediias sifie Y9 gidl &, Pedidl & :

1, Ag=H UfgaH
2. Uep, O ufaa=
3. o ufdaH
4, gial ufga=
Options :
21052935465. 1
21052935466. 2
21052935467. 3
21052935468. 4

Question Number : 118 Question Id : 2105299033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A graph reflecting the relationship between a country's per capita income and its inequality of
income distribution is the

1. Lorenz Curve
2. Phillips Curve
3. Laffer Curve
4. Kuznets Curve
Options :
21052935469. 1
21052935470. 2
21052935471. 3
21052935472. 4

Question Number : 118 Question Id : 2105299033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ul G 31 Ufd iad 3/ Ty 319 [ # aHa & 919 9eY &f e ud @i aral I
m%

1. TR I

2. hleg 9%
3. BT O

4 Po-e dP
Options :
21052935469. 1
21052935470. 2
21052935471. 3
21052935472. 4




Question Number : 119 Question Id : 2105299034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List Il

A. Critical Minimum Effort Theory I. C. P. Blacker

B. Neo-Classical Growth Model Il W. W. Rostow
C. Demographic Transition Theory ll. R. Solow

D. Age of High Mass Consumption IV. H. Leibenstein

Choose the correct answer from the options given below:

TA-ILB-1,C-l,D-IV
ZA-LB-IV,C-Il,D-1
3A-1,B-ILC-1V,D-1
4 A-IV,B-IILC-1,D-1
Options :

21052935473. 1
21052935474.2
21052935475. 3
21052935476. 4

Question Number : 119 Question Id : 2105299034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tait-1 BT gdi-11 & Iy gafed i

Tl -1l

A, IR I 7 Rl (Bl BIFEH TR | g g oo
Laed) '

o, Pl aeRiepe Uafe wRaM %ﬂm
C. Sl g YA [HGid (SHihe SifEH @RI, 3R gidl

D. 3o S-OHE SUHRT T (TS 3 g5 Adh-o1EH) |IV. Td dig-ie

A feu 71t el 7 § 98l 3R g

TA-ILB=1C-1ll, -1V
ZA-NLB-IV,C-Il,D-1
JA-1LB-ILC-1V,D-1l
4A-IV,B-U,C-1L,D-1
Options :

21052935473. 1



21052935474. 2
21052935475.3
21052935476. 4

Question Number : 120 Question Id : 2105299035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Harrod-Domar considers a functional economic relationship in which the growth rate of the
gross domestic product depends

A. Directly on the national net savings rate

B. Inversely on the national capital-output ratio

C. Directly on industrial growth

D. Inversely on agricultural growth

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and D only
4. C and D only
Options :
21052935477. 1
21052935478. 2
21052935479. 3
21052935480. 4

Question Number : 120 Question Id : 2105299035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IS - 3R TP U4 UeEias e Gdy & IR & aid & foras 9%a 9Re Id1E &1 e X
ﬁﬂ'{m%:

A. TP a0 §9d R M ITH FT Y

B. 1T il - ST AT TR Gop Al o 9
C. 3T fGor R uds $U Y

D. T AP I AHHMURT ¥4 U

- feu e fasedl § ¥ 981 IR 9H9 :

1. Pad A AR B
2. BAAA R C
3. BAA B AR D
4. HIACARD
Options :
21052935477. 1
21052935478. 2
21052935479. 3
21052935480. 4

Question Number : 121 Question Id : 2105299036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Based on the following Blacker's stages of population growth diagram, the portion between A,

B and C implies

> =

Birth/Death rates

X
0 Time

1. Stage of low stationary
2. Population declining

3. Early expanding

4. Late expanding
Options :



21052935481. 1
21052935482. 2
21052935483. 3
21052935484. 4

Question Number : 121 Question Id : 2105299036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

N fmt

KPR P U gfa & IR0l & FufaRed g & sneR I A, B IR ¢ & 99 & YR &1 AT B

o / 5 &Y

HqHY

1. 8 Rl (@ %EE) &1 R
2. F9EA § fRige gl ¥l B

3. RS fa%aR (3fcl gagufam
4. gHTq| fo® (i Uaduten)
Options :

21052935481. 1

21052935482. 2

21052935483, 3

21052935484, 4

Question Number : 122 Question Id : 2105299037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List II

A. Karl Marx Theory of Population growth . Static interpretation
B. Blacker's Thecry of Population growth Il. Three stages

C. Landry's Theory of Population growth lIl. Four stages

D. Prof. Sidgwick's Optimum Population Theory  |IV. Five stages

Choose the correct answer from the options given below:

TA-ILB=-NLC-1IV,D-1
ZA-1,B-ILC-1,D-1V
JA-NLB-IV,C-Il,D-|
4A-IV,B-1,C-1,D-1
Options :

21052935485. 1
21052935486. 2
21052935487.3
21052935488. 4

Question Number : 122 Question Id : 2105299037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gail-1 DI Ydi-1l b F1Y FHd BT :
ﬂ?ﬁ-i -1l

A. Id Hie &1 SH4E gle @ [bgia ].ﬁﬂﬁ; e (e
B. It & wi-aeH gl @l fagid I1. i =Ry

C. Tl Bl oGS dia &I (UGl I11. IR =207

D. WithaR RpTfaed @1 SMax] sHaE "

e Iv. 9T =0T

2 feu e faeedl § § el 9w gAg

TA-ILB=-1LC-1IV, -1
2ZA-1,B-1ILC-1,D-1V
3A-NLB-IV,C-Il,D-1
4A-IV,B-1,C-1,D-1
Options :

21052935485. 1
21052935486. 2
21052935487.3
21052935488. 4



Question Number : 123 Question Id : 2105299038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List II
A. Kerala . Least urbanized
B. Punjab ll. Highest percentage of 5.C's in their population

C. Himachal Pradesh|lll. Highest percentage of 5.T's in their population

D. Madhya Pradesh |IV. Highest sex ratio

Choose the correct answer from the options given below:

T.A-IV,B-1I,C-1,D-1l
ZA-1L,B-ILC-1,D-1V
JA-ILB=1C-1l D=1V
4A-IV,B-I,C-IILD-1
Options :

21052935489. 1
21052935490. 2
21052935491.3
21052935492. 4

Question Number : 123 Question Id : 2105299038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ti-| ! Yai-1l & 1Y FHAd DIfore :

Tal-1 Tai-I1
A. B I. A Tediod
B. GoTd I, 30! TSR H Sggfad Sfadl &1 3=aad ufa=rddl

C. Tearae Uaw (1. g Sl &1 Swdd Uia=iddl
D.HEUGY  |Iv. SdaH feRT aurd
rd feu e fawenl § ¥ 981 S g

TA-IV,B-1I,C-1,D-1l
ZA-1,B-NILC-1,D-1V
JA-ILB=1C-1ll, D=1V
4A-IV,B-I,C-IILD-1
Options :

21052935489. 1
21052935490. 2
21052935491. 3
21052935492. 4



Question Number : 124 Question Id : 2105299039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Population Density refers to

1. Number of male persons per square kilometer
2. Number of persons per cubic kilometer

3. Number of persons per square kilometer

4. Number of persons per 10 kilometers

Options :

21052935493. 1

21052935494. 2

21052935495. 3

21052935496. 4

Question Number : 124 Question Id : 2105299039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SGE U GelHd Bl & -

1. TP o fpadiex 8 qoul @f 9= 3

2. U@ vF fraiter § afgadl &f 9 @l
3. U ol feheliHIex | ofaadl & 9.l &l
4 T oy fiaidier o sofgadl 3 9= &
Options :

21052935493, 1

21052935494. 2

21052935495. 3

21052935496 4

Question Number : 125 Question Id : 2105299040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Growth in infrastructure is considered as an essential pre-requisite for stepping
up GDP growth

Statement lI: It is vitally important to increase capital formation in India

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are not correct
2. Statement | is correct but Statement |l is incorrect
3. Both Statement | and Statement |l are correct

4, Statement | is incorrect but Statement |l is correct
Options :

21052935497. 1

21052935498. 2

21052935499. 3

21052935500. 4

Question Number : 125 Question Id : 2105299040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CIEEAL R C AR S

HU-| ; HURYT W1 H T3S &1 siterdl U9fs & o sfard < o= S g1
HYF-Il : YR § USi & o H gfE oicdd Jewy 3|
SUYe Yl B T H [HHiitd f[dmedl § ¥ Ugl I 9
1. BYT | 3R HYF 1 GHT Tad B

2. Y| Tel g AR BYT 11 TT0d &

3. GHI BYF | AR FYT | el &

4, FYT I TAd e IR PYT I Gel &

Options :

21052935497. 1

21052935498. 2

21052935499. 3
21052935500. 4

Question Number : 126 Question Id : 2105299041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Industrialization strategy advocates trade and development to overcome market
failures through government policy

Statement ll: It encourages technology transfer and exports of progressively more advanced
products

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are false
2. Statement | is true but Statement |l is false
3. Statement | is false but Statement Il is true
4, Both Statement | and Statement Il are true
Options :

21052935501. 1

21052935502. 2

21052935503. 3

21052935504. 4

Question Number : 126 Question Id : 2105299041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

CIEEAL R C AR S

FUF-| ; e Hifa ot WRER! Hifd & 9199 T IR &f J9madl 4 3634 & a8 AR 3R
a9 ! a@ad &l o

HY-1| : T8 WD 3R & Uiedlied ®dl & R e 39d Iaie! &1 IO [Haid $al
gl

Sudad YAl & e J [giied ideedl H 9 98 3w 94 ;

1. BYT | 3R 1| g Fal T8l &
2. 9 &YUI-1 9ol g

3. $gc &YF-11 9ol o

4. BYF1 AR 1 GHl ol 6l
Options :

21052935501. 1

21052935502. 2

21052935503. 3

21052935504. 4

Question Number : 127 Question Id : 2105299042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Growth rate of population is

1. Rate at which population increases per 1000 per annum
2. Rate at which birth rate increases per 1000 per annum

3. Rate at which population increases per 10,000 per annum
4. Rate at which fertility rate increases per annum

Options :

21052935505. 1

21052935506. 2

21052935507. 3

21052935508. 4

Question Number : 127 Question Id : 2105299042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1, fored 9 ufgay uid 1000 1 g2 I 98l o
2. forg® & 52 ufday ufd 1000 &1 &2 O Sgdl 8

3. forgd g% ufdad Ufd 10,000 ®1 &3 ¥ S¢d &
4, TorgH uoH oX ufday ggdi 8

Options :

21052935505. 1

21052935506. 2

21052935507. 3

21052935508. 4

Question Number : 128 Question Id : 2105299043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Account payee crossing is defined in which section of the Negotiable Instruments (NI) Act?

1. Section 123

2. Section 124

3. Section 125

4, Not defined in NI Act
Options :

21052935509. 1
21052935510. 2
21052935511. 3
21052935512. 4

Question Number : 128 Question Id : 2105299043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

HTGTAT Wl SIRIAT (Account Payee Crossing) ® Wl aay HAuHgg of fog g
Ry fear T & -

1. ¥IRT 123

2. YR 124

3. YR 125

4. 09 35, UHTE H miiyfg
Options :

21052935509. 1

21052935510.2

21052935511. 3

21052935512. 4

Question Number : 129 Question Id : 2105299044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the last Census (2011), which Indian state has the minimum sex ratio?

1. Punjab

2. Delhi

3. Bihar

4. Haryana
Options :
21052935513. 1
21052935514.2
21052935515.3
21052935516. 4

Question Number : 129 Question Id : 2105299044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THIUMET (2011) & STHR HRA & (¥ ITsd H AaH el 3HUd & ?

1. G|

2. feeedt

3. faBR

4, gl
Options :
21052935513. 1
21052935514. 2
21052935515.3
21052935516. 4



Question Number : 130 Question Id : 2105299045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Economic Survey, 2019, the top five trading partners of india continue to be USA,
China, UAE and

A. Saudi Arabia

B. Hong Kong

C. Singapore

D. Srilanka

Choose the correct answer from the options given below:

1. C and D only
2. B and C only
3. Aand D only
4. A and B only
Options :
21052935517. 1
21052935518. 2
21052935519. 3
21052935520. 4

Question Number : 130 Question Id : 2105299045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3T A& - 2019 & HTER, HRA & Uld MY IR FEIER - 3HR®I, T4, LUE, B @l
IR B ®H & W6 -

A THal 3R9




Options :

21052935517. 1
21052935518.2
21052935519. 3
21052935520. 4

Question Number : 131 Question Id : 2105299046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who said, "I believe that the objective for disinvestment should be to benefit the public, the
consumer and the investor and at the same time to improve competitiveness and eliminate
monopoly"?

1. Manmohan Singh
2. George Fernandes
3. Chidambaram

4. Yashwant Sinha
Options :
21052935521. 1
21052935522.2
21052935523. 3
21052935524. 4

Question Number : 131 Question Id : 2105299046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g ®el ¢ i : "8 OHar g fib fafHdw &1 359y meiedl, Iuuled ayl (Had® & oY GgdH
@& 91y -1y gfaesf # GUR aF1 SR UeiieR 99 A1 gl -

1, §9e g
2. SISl Al fao
3. Faga

4, T9Ed 81
Options :
21052935521. 1
21052935522. 2
21052935523. 3
21052935524. 4

Question Number : 132 Question Id : 2105299047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Chronic poverty is the main problem facing India
Reason R: British colonial rule has caused underdevelopment in India

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is carrect but R is not correct

4. A is not correct but R is correct

Options :

21052935525. 1

21052935526. 2

21052935527. 3

21052935528. 4

Question Number : 132 Question Id : 2105299047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T gl @y RU MU § : v @l S1fidyd (A) AR G- &I ad (R) el T & ;
MUY (A) : SI0] T HRA & 7 99 &

a® (R) : fefe SUfaie e & SR YR H ©F oy gaf|
Sudd ®YAl & HTeid | Fgiidd fddbedl H U Hailde 3ugad S g ;
(A) 3R (R) T TE1 € 3R (R), (A) P W&l ARBAE|

(A) 3TR (R) T We1 § 3R (R), (A) BT He! SRS Tl &

(A) T & U (R) Tel el ©)

(A) HEl I8l & U= (R) ¥l ¢

Options :

21052935525. 1

21052935526. 2

21052935527. 3
21052935528. 4

L
2.
3.
4.

Question Number : 133 Question Id : 2105299048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The share of the service sector in the Gross Value Added of India at current prices, during
2018-19 is between

1. 45 to 47 percent
2. 50 to 52 percent
3. 53 to 55 percent
4. 60 to 62 percent
Options :
21052935529. 1
21052935530. 2
21052935531. 3
21052935532. 4

Question Number : 133 Question Id : 2105299048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
a4 2018 - 19 P ¢RHE TaHH 90 W YR &1 Yo Iod gl & Ja1 &F o1 fewan e -

1.45 447 UfGRId & &g
2. 50 Y 52 Uidgd & &9
3.53 Y55 UfATd & &g
4,60 ¥ 62 UGRIG & did
Options :

21052935529. 1
21052935530. 2
21052935531, 3
21052935532. 4

Question Number : 134 Question Id : 2105299049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

White revolution refers to boost in the production of

1. Rice
2. Milk

3. Eggs

4. Honey
Options :
21052935533. 1
21052935534. 2
21052935535. 3
21052935536. 4

Question Number : 134 Question Id : 2105299049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

&id shifdl ford & SaTe | i O Wefia 8 2

1. didd

2.qd

3. 33

4. TeG
Options :
21052935533. 1
21052935534. 2
21052935535.3
21052935536. 4

Question Number : 135 Question Id : 2105299050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The number of districts initially selected from states under the Intensive Area Development
Programme (1960)

1. One district from each state

2. Three districts from three states
3. Five districts from five states

4, Seven districts from seven states
Options :

21052935537. 1

21052935538. 2

21052935539. 3

21052935540. 4

Question Number : 135 Question Id : 2105299050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
o & fasrg diddH (1960) & Sidiid SfRH H fvad o g T 4

1. Ul Iod 4 Ueh foretm
2. T4 Wi © | ford
3. Uid o4l 9 Ui fore
4, 91d gl § I ford
Options :

21052935537. 1
21052935538.2
21052935539.3
21052935540. 4




Question Number : 136 Question Id : 2105299051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which one of the following Committee’s has been constituted for doubling farmer's income by
20227

1. Ashok Mehta Committee

2. Naresh Chandra Committee
3. Rajeev Kumar Committee
4. Ashok Dalwai Committee
Options :

21052935541. 1

21052935542. 2

21052935543. 3

21052935544, 4

Question Number : 136 Question Id : 2105299051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 2022 T B B T GHT B D e FEiaRad 5 9 ®1F Il 9iHfd &1 76 i T g 2

1. =P Hedl A
2. Y d% Wl

3. &9 AR FHd
4, 2D Godl YAk
Options :
21052935541. 1
21052935542. 2
21052935543. 3
21052935544, 4

Question Number : 137 Question Id : 2105299052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which one of the following statements is WRONG?

1. 67% of Indian agriculturists are marginal landholders with less than 1 hectare
2. 10% of agriculturists have 10 hectares or more

3. In the rural sector, land is the principal source of income

4. Due to the high growth of population, the average size of landholding is small
Options :

21052935545. 1

21052935546. 2

21052935547. 3



21052935548. 4

Question Number : 137 Question Id : 2105299052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FfaRad 9§ 9 -9 &Y= TTad ¢ -

1. YRa § 4T & diara oiid (1 saeX & ©H) BTEA67% 8

2. YRa § YT 1 ggd <id (10 8aeY 314dl 394 314H) &1 &7 10% &l
3. AT & H YfH o/ & 5= Hid B

4. S9N H @ gig & RO Sid &1 A9d HHR Bl 8l
Options :

21052935545. 1

21052935546. 2

21052935547. 3

21052935548. 4

Question Number : 138 Question Id : 2105299053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The combined liabilities of Centre and States as a percentage of GDP during the two years
2016-17 and 2017-18 consolidated is at

1. 69 percent
2. 67 percent
3. 68 percent
4. 66 percent
Options :
21052935549. 1
21052935550. 2
21052935551. 3
21052935552. 4

Question Number : 138 Question Id : 2105299053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¥ 2016 - 17 AUT2017 - 18 & QR Silargl # dg dUT Isdl & SFARd <aal &1 ufdsd & ;

1. 69 Bia=rd
2. 67 Uid=d
3. 68 Ufderd
4, 66 Uia=rd
Options :
21052935549. 1



21052935550. 2
21052935551. 3
21052935552. 4

Question Number : 139 Question Id : 2105299054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Which of the following are the three states which secured the highest percentage of inter-se
share of tax revenue among states, as per recommendations of the 14" Finance Commission?

A. Uttar Pradesh

B. Bihar

C. Madya Pradesh

D. Andhra Pradesh

Choose the most appropriate answer from the options given below:

1. A, B and D only
2. A, Cand D only
3. A, B and C only
4. B, C and D only
Options :
21052935553. 1
21052935554. 2
21052935555.3
21052935556. 4

Question Number : 139 Question Id : 2105299054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



14 d fad < o RmREl & o1aR Fgffed § U oF 4 39 99 & 9 I1 & 9 fdaika
U STHAI B - JeTea B SfEdHad Uia<id Wi el ?

A. FTRYCH

B. f9ER

C. HeOueRl

D. iYW

i fEu 7Y fadhed! § ¥ Yad Iugad SR Y

1. Hgd A, B3R D
2. Bad A, C3R D
3. BAAA, B IR C
4. HaaB, C3{RD
Options :
21052935553. 1
21052935554. 2
21052935555. 3
21052935556. 4

Question Number : 140 Question Id : 2105299055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are forms of government borrowing?
A. Drawing from treasury

B. Printing of currency notes

C. Borrowing from non-bank public institutions

D. Borrowing from the banking system

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3AB, CandD
4. A and D only
Options :
21052935557. 1
21052935558. 2
21052935559. 3
21052935560. 4



Question Number : 140 Question Id : 2105299055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

fofaRad o 9 & 9 @R0d (form) &I GRBR] BU Hel Idl & ?

1. ASTHY H L0 ]

2. Jg1 &1 50 3]

3. YA d® N 96 4 SR oAl
4, dHHR HIT™Y Y JYR o1
Options :

21052935557. 1

21052935558. 2

21052935559. 3

21052935560. 4

Sub-Section Number : 2
Sub-Section Id : 210529346
Question Shuffling Allowed : Yes

Question Id : 2105299056 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the questions that follows

There is considerable evidence that some consumers are willing to pay more for green goods.
Green goods are goods that are manufactured in an environmentally friendly way (e.g. wood
products from sustainable forests, electricity produced from wind power) without a direct
impact on a consumer. These are referred to as impure Public goods - a package of Private
good and Public good.

Why consumers are willing to pay more for these goods is complex. Whatever the reason, it is
clear some consumers are willing to pay for green actions that do not benefit them directly.

One example of green goods is 'green electricity’. Green power is simply electricity produced
using renewable sources of energy. Of course, electricity itself is completely indistinguishable
from non-green electricity. There are two ways in which consumers may buy green electricity;
either by buying it directly or by contributing to the cost of building green electricity capacity.

Consumers are clearly willing to spend more for green electricity and their preference for
green production is indicated by the recent rise in popularity of retail carbon offsets. Offsets of
emissions have long been used by firms to buy and sell the obligation to reduce emissions. In
the USA, new emitters setting up a business in an urban area have to 'offset’ their emission
additions by finding (and paying) existing firms to reduce their emissions. In recent years, firms
have used offsets to effectively reduce their emissions in order to provide a green image,
particularly in the case of carbon emissions.

The purchase of offsets by consumers is different when consumers buy offsets. They are
making a purely voluntary contribution to the environment. Retail offsets are a way in which
consumers can produce a green product from a brown product. For example, one can make
his part of the flight carbon neutral by paying somecne else to reduce his or her carbon
emission. This is formalized in an offset market whereby sellers of offsets reduce emissions and
then sell these ‘reductions’.

Sub questions

Question Number : 141 Question Id : 2105299057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



An example of green goed is

A. White paper

B. Wind power

C. Forest products

D. Solar energy

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
21052935561. 1
21052935562. 2
21052935563. 3
21052935564. 4

Question Number : 142 Question Id : 2105299058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Green Electricity means

1. Electricity produced from renewable sources of energy
2. Electricity from Thermal plants

3. Electricity from Gas-powered plants

4. Hydro-power

Options :

21052935565. 1

21052935566. 2

21052935567. 3

21052935568. 4

Question Number : 143 Question Id : 2105299059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Impure Public goods are

1. Private goods

2. Public goods

3. A package of Public and Private goods
4. Harmful goods for the society

Options :



21052935569. 1
21052935570. 2
21052935571. 3
21052935572. 4

Question Number : 144 Question Id : 2105299060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Offset of emissions are used

A. To reduce emissions

B. To provide green image

C. For emission addition

D. To satisfy consumer preferences

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3. A Band D only
4. B, C and D only
Options :
21052935573. 1
21052935574. 2
21052935575. 3
21052935576. 4

Question Number : 145 Question Id : 2105299061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The way in which consumers can produce a green product from a brown product

1. Monopoly

2. Retail offsets

3. Price discrimination
4. Fiscal deficit
Options :
21052935577. 1
21052935578. 2
21052935579. 3
21052935580. 4

Question Id : 2105299056 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time :
Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 2105299057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A 3% BT TP ISTER 5 -

A. GBE BFTS (white paper)

B. 91 iad (wind power)

C. 99 3dlq (forest products)

D. §R F4l (solar energy)

rd fen 7 fased! & ¥ gaifte 3uged 3wk 94 :

1. Had A X B
2. HaAB AR C
3. BAAC 3R D
4. HgAB AR D
Options :
21052935561. 1
21052935562. 2
21052935563. 3
21052935564. 4

Question Number : 142 Question Id : 2105299058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sikd faggd 4 s & -

1. AAIHRUIY Sl & Fidl 4 f4ggd ®1 I

2. ¥Hd wiie (@ ¥43) 9 faggd Sare
3. 719 Uik Wiie ¥ faggd IdicA
4, oI Xfed (g5l Uray) ¥ fdgyd SamgA

Options :

21052935565. 1
21052935566. 2
21052935567. 3
21052935568. 4

Question Number : 143 Question Id : 2105299059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HYE TaWH® a&l & -

1. Felt a5

2. graviHd as]

3. Graeii-is ayl el 9% &1 U
4, FHS & foT SH®RS a%g




Options :

21052935569. 1
21052935570. 2
21052935571. 3
21052935572. 4

Question Number : 144 Question Id : 2105299060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
PHTa Icqui & Hhae B I9gn g e fpar s g 2

1. PTE- Sodoid UeH o g

2. eRa s ugH & & fau

3. Ble Icqoid g o fad

4. FUYF BT 9UE &l T &34 & e
Options :

21052935573. 1

21052935574. 2

21052935575. 3

21052935576 4

Question Number : 145 Question Id : 2105299061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SuuTE et . ¥ @89) Iarg @ eRa Sarg &1 i fod UeR & Oadi & 2

1. TDIYPR

2. freq sipe
3. BiFd fadg
4, ISR O e
Options :
21052935577. 1
21052935578. 2
21052935579. 3
21052935580. 4
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Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage carefully and answer the questions that follows

The objectives of public finance are to ensure macroeconomic stability, achieve the desired
state of distribution, provide public services to accelerate growth and development. Fiscal
policy has both macro and microeconomic aspects. Further, the objectives include allocating
resources for the provision of public services. The important point is that ensuring security and
protection of property rights is a basic public good and this can be provided cnly by the
government. The governments have the task of distributing incomes and alleviating poverty.
After the Great Depression and influenced by Keynesian economics, public spending was
assigned a central role. Thus, the role of public finance is inextricably linked to the role of the
state. From merely ensuring safety, security and property rights, governments have expanded
their activities to providing a variety of public services with externalities. The expansion has
been a subject matter of debate. Musgrave considers that the expansion of the public sector
has been a necessary and constructive development and strong public sector is needed along
with the capitalist market. In contrast, Buchanan argues that dispute arises when the state
expands to areas beyond the realm of boundaries of the protective state into a productive or
tax-transfer state.

In India, state intervention through public finance policy has to play an important role besides
ensuring the safety and security of people and their property rights. These include the need to
overcome large social and physical infrastructure deficit, provide correctives to missing and
imperfect markets, introduce measures to reduce acute inequalities and poverty and provide
correctives to widespread information asymmetry. Interventions are needed also to provide
externalities in terms of market development, irrigation, storage and price support in
agriculture to deal with market imperfections and supply volatility. Similarly, generalized
externalities have to be ensured for the manufacturing and service sectors through
competitive levels of infrastructure. India's public finance policies have enabled the
government to play a catalytic role in the development of the economy as a whole. In addition
over the years, there has been a significant increase in transfers from the government such as
for employment guarantee and food security, national housing scheme, Swachchh Bharat
Abhiyan, Ujjawala Yojana, Pradhan Mantri Kisan Samman Nidhi, periodic loan waives, etc.

Sub questions

Question Number : 146 Question Id : 2105299063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following objectives of public finance is NOT correct?

1. Ensure macroeconomic stability

2. Ensure reduction of adverse balance of payments
3. Accelerate growth and development

4. Desired state of distribution



Options :

21052935581. 1
21052935582. 2
21052935583.3
21052935584. 4

Question Number : 147 Question Id : 2105299064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is correct?

A. The expansion of the public sector has been a necessary and constructive development and
a strong public sector is needed along with the capitalist market

B. There are several reasons for the state to embrace a much larger role

C. In India, state intervention through public finance policy has to play an important role
D. Keynesian economics states that the state has to ensure full employment

Choose the correct answer from the options given below:

1. A and B only

2. A, B and C only
3. A and C only
4 A B CandD
Options :
21052935585. 1
21052935586. 2
21052935587. 3
21052935588. 4

Question Number : 148 Question Id : 2105299065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
The statement, "Dispute arises when the state expands to areas beyond the realm of
boundaries of the protective state into a productive or tax-transfer state”, was given by

1. Musgrave
2. Keynes

3. Dalton

4. Buchanan
Options :
21052935589. 1
21052935590. 2
21052935591.3
21052935592. 4



Question Number : 149 Question Id : 2105299066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The externalities of the government intervention in the economy can be found in terms of
A. Market development

B. Money supply

. Storage and price support in agriculture

D. Irrigation

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band D only
3. A, B and C only
4. A and D only
Options :
21052935593. 1
21052935594. 2
21052935595. 3
21052935596. 4

Question Number : 150 Question Id : 2105299067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following does NOT fall in the category of government transfers?

1. National Housing

2. Swachchh Bharat Abhiyan
3. Pericdic loan waivers

4. Education

Options :

21052935597. 1

21052935598. 2

21052935599. 3

21052935600. 4

Question Id : 2105299062 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105299063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

21052935581. 1



21052935582. 2
21052935583. 3
21052935584. 4

Question Number : 147 Question Id : 2105299064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Faftiied 59 9H - 95y U8 6B -
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1. g A 3N B

2. BAAA, B IR C
3. BAAA R C
4.A B, C3RD
Options :
21052935585. 1
21052935586. 2
21052935587. 3
21052935588. 4

Question Number : 148 Question Id : 2105299065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tg Hy- b » faare 99 S0F BId1 € 99 Iod GIETHS g B AT a1 9 3 Sia Idred
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1. AGUd

2. o
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Options :
21052935589. 1
21052935590. 2
21052935591.3
21052935592. 4




Question Number : 149 Question Id : 2105299066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A. 99R 9B
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Options :
21052935593. 1
21052935594. 2
21052935595. 3
21052935596. 4

Question Number : 150 Question Id : 2105299067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
21052935597. 1
21052935598. 2
21052935599. 3
21052935600. 4




